1 .6. Xt 5 of B A B4
GHEREMH ® « R R#H) o 1 &
By T B =
O SIH R (LR 7 0) o (:’j‘fiz) Y o g%(i) HE | #10
2 - L 75 X 75 X 9| 3545 9.96] 35.3 2 71 71] 88400 /I
2 - PL 155 X 9 200 70.7( 2.19 2 4 4] ss400( /1
BHEGFE 75 75
ORI MR AAYTY) - 1 45 b {% B & (kg) ME | Mk
(ke /M) (kg) 18 %
30 - TCB M22 X 55 0.478 30 14 30 14| s10T| BEA
855 & =t 30 30
BEAF 14 14
&~y MRS L 30 A X RN = 30 AR
& 35 A A
ofir L GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 2 = 0.281 m2
" " (0.075 + 0.060 )X 0.300 X 2 X 2 = 0.162 m2
At 0.443 m2
1 %N 0.443 m2
& Sl H7 FLE L
& (mm) (IA%70)
$ 26.5 30 & Fr X VN = 30 f& A
& RPN (=R X TR XT)
y=LTHY TEFF 0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
I o 0.075 X 0.002 X 0.300 X 1700 X 2 = 0.153 kg
A Ft 0. 388 kg
1 N 0.388 kg
L ERZ RIS
Fewekmy o GUSS (0 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 2 = 0.281 m2
I " (0.075 + 0.060 )X 0.300 X 2 X 2 = 0.162 m2
" o 0.155 X 0.200 X 2 X 2 = 0.124 m2
" ™M) 5,06 /1000 X 30 = 0.152 m2
A Ft 0.719 m2
1 %N 0.719 m2
& L5k
A 9.96 X 3.545 X 0.0292 X 2 - 0.075 X 0.230 X 4 X 2 = 1.924 m2
PER 0.075 2 X 0.300 X 1 X 2 = -0. 090 m2
no0.155 0.200 X 2 X 2 = -0.124 m2
A Fr 1.71 m2
1 FN 1.710 m2



1.7 6 R B R

R B4 R A4 T 5 B ©))

® SUH R (L4 72 0) x| RORR ] |[HE [ 2T s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
1 - PL 320 X 9 X 820 70.7| 18.6 1 19 38| ss400| /1
B A 19 38
ORN N EE(AEHFLELY) _ 18 %2 LB ?%% Ba(kg) | ME | #MH
(kg/fH) (kg) 1 %%
22 - TCB M22 X 55 0.478 22 11 44 22| s10T| fEA
8% & 7t 22 44
B A 11 22
&~y NESL 22 K X 2 &P = 44 K
& 55 H I EE
2fir LY GUSS 0.075 X (  0.305 + 0.030)X 4 X 2 = 0.201 m2
” " 0.075 X ( 0.300 + 0.060)X 2 2 = 0.108 m2
&t 0.309 m2
2 fEET 0.618 m2
& ST L L
& (mm) AfEFT Y 7= 9)
¢ 26.5 22 AT X 2 T = 44 f& Bt
& REEFHEEA (=R X R XT)
y=L7THY  BXHF 0.075 X 0.002 X 0.305 X 1700 4 = 0.311 kg
" ”o0.075 X 0.002 X 0.300 X 1700 2 = 0.153 kg
A& 0.464 kg
2 fERET 0.928 kg
L EERZ RS
FedeL@my o GUSS 0.075 X ( 0.305 + 0.030)X 4 X 2 = 0.201 m2
" " 0.075 X (  0.300 + 0.060) X 2 X 2 = 0.108 m2
I M) 5,06 /1000 X 22 = 0.111 m2
At 0.42 m2
2 AT 0.840 m2
& Tk
GUSS 0.320 X 0.820 2 = 0.525 m2
FEBRES 0,305 X 0.075 X 2 X 2 = -0. 183 m2
no0.075 X 0.300 X 2 = -0. 090 m2
At 0.252 m2
2 fEET 0.504 m2



1. 8. & R B R

CRHERE RIS HEE D) 1 & A
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) | (kg/te) (ke) | BT & (kg)
1 - PL 320 X 9 680 70.7| 15.4 1 15 15| SS400| /1
B A Gt 15 15
&R MR (1EFTY2Y) _ 18 %4 LB P%% Ba(kg) | ME | #MH
(kg/fH) (kg) 18 %
18 - TCB M22 X 55 0.478 18 9 18 9| s10T| B#A
fE% &7 18 18
B At 9 9
&~y NESL 18 K X 1 T = 18 &K
& 55 HH A
oML GUSS 0.075 X ( 0.230 + 0.030)X 4 2 = 0.156 m2
7 7 0.075 X (  0.300 + 0.060)X 2 2 = 0.108 m2
A Ft 0.264 m2
1 & 0.264 m2
& ST L T
#& (mm) AT 472 9)
¢ 26.5 18 & 7T X 1 @Epr = 18 & 7T
& RREFHIEA (R % RS T)
y=L 7Y% B%Hf 0.075 X 0.002 X 0.230 X 1700 4 = 0.235 kg
" no0.075 X 0.002 X 0.300 X 1700 2 = 0.153 kg
&t 0.388 kg
1 fEpT 0.388 kg
L ER RS
T kmo GUSS 0.075 X (  0.230 + 0.030)X 4 2 = 0.156 m2
n n 0.075 X ( 0.300 + 0.060)X 2 2 = 0.108 m2
" mCORD 506 /1000 X 18 = 0.091 m2
A Ft 0.355 m2
1 AT 0.355 m2
& st
GUSS 0.320 X 0.680 X 2 = 0.435 m2
PERRER 0.230 X 0.075 X 2 X 2 X 2 = -0. 138 m2
o 0.075 X 0.300 X 2 X 2 = -0. 090 m2
A Fr 0.207 m2
1 T 0.207 m2



1.9 e AEHET R L

CeHEHE E5ip i ©) - 1 & AT
® SUH R (L4 72 0) g e e I L YOy e
(mm) | (kg/m) | (kg/te) (ke) | BT & (kg)
1 - PL 318 X 9 X 732 70.7| 16.5 1 17 17| SMAOOA| /1
1 - PL 160 X 9 X 732 70.7| 8.28 1 8 8| sua00A| /1
BHEGFE 25 25
§ B Wi B B o= 1 BEFr
ORI MR (IEFTY D) iE % . B & (kg) ME | Mk
(kg/fH) (kg) 18 %
14 - TCB M22 X 55 0.478 14 7 14 7] sioT| BEA
14 - TCB M22 X 55 0.478 14 7 14 7] sioT| BEA
e % & &t 28 28
B EA G 14 14
& 7 2GR
L = 0.732 = 0.732 m
R A F 0.732 m
1 EpT = 0.732 m
L A GV e 153
L = 0.732 = 0.732 m
ER A 0.732 m
1 f&pT = 0.732 m
& 35 A A
2 v FLG 0.160 X ( 0.732 + 0.060) X 2 = 0.253 m2
4 A (0.305 + 0.030)X 0.075 X X 2 = 0.101 m2
I A (0.230 + 0.030)X 0.075 X X 2 = 0.078 m2
A Ft 0.432 m2
1 & 0.432 m2
& S FLI T
#& (mm) AT 472 9)
¢ 26.5 28 fH AT X 1 @Epr = 28 f& Fr
& REEFREM (=R /g T)
y=L 7Y FLG 0.160 X 0.002 X 0.732 X 1700 X 1 = 0.398 kg
n A 0.075 X 0.002 X 0.305 X 1700 X 1 X = 0.156 kg
" WS 0.075 X 0.002 X 0.230 X 1700 X 1 X = 0.117 kg
A Ft 0.671 kg
1 AT 0.671 kg
L EERZACES
Ted-kmy FLG 0.160 X ( 0.732 + 0.060 ) X 2 = 0.253 m2
Z ™) 5,06 /1000 X 28 = 0.142 m2
I A (0.305 + 0.030)X 0.075 X 2 X 2 = 0.101 m2



I A (0 0.230 + 0.030) X 0.075 X 0.078 m2
At 0.574 m2
1 A 0.574 m2
& Tk
GUSS 0.318 X 0.732 X 2 0.466 m2
PEBREE 0.305 X 0.075 X 2 X -0. 092 m2
FEBRER 0.230 X 0.075 X 2 X -0.069 m2
&t 0.305 m2
1 T 0.305 m2



1 .10, st af HERE S & >~ bR

CRHERE FoEMEED)  —————— oo 1 &
® SUH R (L4 72 0) g e e I L YOy e
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
1 - PL 318 X 9 X 732 70.7| 16.5 1 17 17| SMAOOA| /1
1 - PL 160 X 9 X 732 70.7| 8.28 1 8 8| sua00A| /1
BHEGFE 25 25
O RN N E(EFSY) _ 18 % R 1‘,%% B & (kg) ME | M i
(kg/18) (kg) 18 %
14 - TCB M22 X 55 0.478 14 7 28 7] sioT| BEA
14 - TCB M22 X 65 0. 508 14 7 28 7| sioT| BEA
fE% &7 28 56
B A 14 14
& LT ARV FESL 12 K X 1 fHFF = 12 K
& 55
MLy FLG 0.160 X ( 0.732 + 0.060) X 2 = 0.253 m2
n A (0 0.305 + 0.030) X 0.075 X 2 2 = 0.101 m2
4 A (0 0.230 + 0.030)X 0.075 X 2 2 = 0.078 m2
At 0.432 m2
1 AT 0.432 m2
& ST LI T
£¢ (mm) (B AT 472 9)
¢ 26.5 28 AT X 1 fEpT = 28 f& A
& RPN (=R X TR XT)
y=L.7TH% FLG 0.160 X 0.002 X 0.732 X 1700 X 1 = 0.398 kg
n WA 0.075 X 0.002 X 0.305 X 1700 X 2 = 0.156 kg
n 5k 0.075 X 0.002 X 0.230 X 1700 X 2 = 0.117 kg
&t 0.671 kg
1 AT 0.671 kg
L ER RS
Fea-kmy FLG O 0.160 X (0.732 + 0.060 ) X 2 = 0.253 m2
” w2 5,06 /1000 X 28 = 0.142 m2
4 A (0.305 + 0.030)X 0.075 X 2 2 = 0.101 m2
I A (0.230 + 0.030)X 0.075 X 2 2 = 0.078 m2
At 0.574 m2
I 0.574 m2
& Tk
GUSS 0.318 X 0.732 X 2 = 0.466 m2
PERRIES 0.305 X 0.075 X 2 X 2 = -0. 092 m2



n 0.230 X 0.075 X 2 = -0. 069 m2
& &t 0.305 m2
& A

0.305 m2



NSO $=iY %) HERE S & >~ bR

CRHELRE T s @) 1 & A
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
1 - PL 427 X 9 X 829 70.7| 25.0 1 25 25 [ swao00a| /)
1 - PL 160 X 9 X 829 70.7| 9.38 1 9 9| swa00A| /p
BHEGFE 34 34
YA S et LT e s LET O mmae | #m | s
(ke /M) (kg) 18 %
18 - TCB M22 X 55 0.478 18 9 18 9| sioT| A
16 - TCB M22 X 65 0.508 16 8 16 8| s10T| A
e % & &t 34 34
B EA G 17 17
® LT TR FEAL 12 & X 1 T = 12 &
& 55 HH A
2B LY FLG 0.160 X ( 0.829 + 0.060) X 2 = 0.284 m2
n A (0.380 + 0.030)X 0.075 X 2 X 2 = 0.123 m2
n R ( 0.305 + 0.030)X 0.075 X 2 2 = 0.101 m2
&t 0.508 m2
1 fEpT 0.508 m2
& ST L L
& (mm) AfEFTY 7= 9)
¢ 26.5 34 & T X 1 & = 34 & AT
& RREFHEEA (=R X R X T)
y=L.TA1%  FLG  0.160 X 0.002 X 0.829 X 1700 X 1 = 0.451 kg
" A 0.075 X 0.002 X 0.380 X 1700 X 1 2 = 0.194 kg
n WA 0.075 X 0.002 X 0.305 X 1700 X 1 X 2 = 0.156 kg
A Ft 0.801 kg
1 T 0.801 kg
L ERZ RIS
Fedo k29 FLG O 0.160 X ( 0.829 + 0.060) X 2 = 0.284 m2
I WO 506 /1000 X 36 = 0.182 m2
n R ( 0.380 + 0.030)X 0.075 X 2 2 = 0.123 m2
" A (0.305 + 0.030)X 0.075 X 2 2 = 0.101 m2
A Ft 0.69 m2
1 AT 0.690 m2
& ¥t
GUSS 0.427 X 0.829 X 2 = 0.708 m2
PERRER 0.380 X 0.075 X 2 X 2 = -0.114 m2
PEBREE 0.305 X 0.075 X 2 X 2 = -0. 092 m2



B o

Tl Tk
= -

0.502 m2
0.502 m2



1 . 12. kP GEAF KHEAE AT 2 > b
CRHERE R ELAFHE) - 1 &
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
1 - PL 317 X 10 X 1551 78.5| 38.6 1 39 39]8S400( /I
1 - PL 180 X 10 X 1551 78.5( 21.9 1 22 2285400 /I
BHEGFE 61 61
ORI MR (IEFTY D) — iE % b 1‘%% B & (kg) ME | Mk
(ke /M) (kg) 18 %
42 - TCB M22 X 55 0.478 42 20 42 20| s10T| B&EA
8 - TCB M22 X 60 0. 493 8 4 8 4| sioT| HWEA
16 - TCB M22 X 70 0.523 16 8 16 8| sioT| HEA
8% & 7t 66 66
B A 32 32
L Uil G
L = 1.551 = 1.551 m
iR A 1.551 m
1 AT = 1.551 m
L A N s 1 B
L = 1.551 = 1.551 m
R A 1.551 m
1 A = 1.551 m
& 55 L EE
MLy FLG 0.180 X ( 1.551 + 0.060) X 2 = 0.58 m2
I A (0.380 + 0.030)X 0.090 X X 2 = 0.148 m2
n A (0 0.230 + 0.030) X 0.090 X 2 X 2 = 0.094 m2
4 A (0.305 + 0.030)X 0.075 X 2 X 2 = 0.101 m2
At 0.923 m2
1 AT 0.923 m2
& ST L] T
£¢ (mm) (B FT 472 9)
¢ 26.5 66 f& AT X 1 fEpT = 66 f& A
& RPN (=R ¥ TR XT)
y=L.7H#% FLG 0. 180 0.002 X 1.551 X 1700 X 1 = 0.949 kg
n A 0.090 X 0.002 X 0.380 X 1700 X 2 = 0.233 kg
n R 0.090 X 0.002 X 0.230 X 1700 X 2 = 0.141 kg
" A 0.075 X 0.002 X 0.305 X 1700 X 2 = 0.156 kg
&% 1.479 kg
1 AT 1.479 kg

& 55 0



Tk kmo FLG 0.180 X ( 1.551 + 0.060) X 2 = 0.58 m2

” w2 5,06 /1000 X 66 = 0.334 m2
4 A (0.380 + 0.030)X 0.090 X 2 X 2 = 0. 148 m2
I A (0.230 + 0.030) X 0.090 X 2 X 2 = 0.094 m2
n A (0 0.305 + 0.030) X 0.075 X 2 X 2 = 0.101 m2
&t 1.257 m2
1 T 1.257 m2

& LIk
GUSS 0.317 X 1.551 X 2 = 0.983 m2
PERRER 0.380 X 0.090 X 2 2 = -0. 137 m2
#o0.230 X 0.090 X 2 2 = -0. 083 m2
o 0.305 X 0.075 X 2 2 = -0. 092 m2
A Ft 0.671 m2

1 f&ir 0.671 m2



1 .13 Xtk it
(FHH®) e 2 A
®SUH R (R 7 1) x| RORR ] |[BE 2R pw | ps
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
1 - PL 140 X 9 6090 70. 7 60 1 60 120 BM400A| /1
1 - PL 190 X 9 6130 70. 7 82 1 82 165 BM400A | /1
BHEGFE 142 285
ORI M EAARYTZY) - 18 %4 b ?# H&(kg) | ME | MH
(ke /M) (kg) 18 %
8 - TCB M22 X 55 0.478 8 4 16 8| sioT| A
8 $52 5h 8 16
BEAF 4 8
&~y NS L 8 AR X 2 K = 16 &
& 55 HH A
2Ly GUSS  (0.190 + 0.060 )X ( 0.155 + 0.030)X 2 = 0.093 m2
7 7 ( 0.190 + 0.060 )X ( 0.155 + 0.030)X 2 = 0.093 m2
A Ft 0.186 m2
2 PiS 0.372 m2
& ST L T
28 (mm) (1AK% 721)
¢ 26.5 8 f& it X 2 K = 16 {57
& RREFHIEA (R % RS T)
y=L.THY  GUSS 0.190 X 0.002 X 0.155 X 1700 X 1 = 0.100 kg
" ”o0.190 X 0.002 X 0.155 X 1700 X 1 = 0.100 kg
&t 0.200 kg
2 FS 0.400 kg
L ER RS
Fooeskmo o GUSS (0 0.190 + 0.060 )X ( 0.155 + 0.030)X 2 = 0.093 m2
n U ( 0.190 + 0.060 )X ( 0.155 + 0.030)X 2 = 0.093 m2
" 802D 506 / 1000 X 8 = 0.04 m2
A Ft 0.226 m2
2 fERET 0.452 m2
& st
WA 0.140 X 6.090 X 2 X 1 = 1.705 m2
WA 0.190 X { 6.130 - ( 0.155 + 0.030 )
- ( 0.155 + 0.030 )} X 2 1 = 2.189 m2
A Fr 3.894 m2
2 PiS 7.788 m2



1. 14. Xt 54 it
(CRHERE Fo4Ar & oA WE, FREEHEES0) - 1 &
® SUH R (L4 72 0) g e e I L YOy e
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
1 - PL 250 X 9 540| 70.7| 9.54 1 10 10| SS400| /1
B A 10 10
ORN N EE(AEHFLELY) _ 18 %2 LB 3%% Ba(kg) | ME | #MH
(kg/fH) (kg) 1 %%
5 - TCB M22 X 55 0.478 5 2 5 2| siot| EEA
8 - TCB M22 X 55 0.478 8 4 8 4| sioT| A
& &t 13 13
BHEGFE 6 6
&~y MRS L 13 R X 1 & = 13 K
& 3 A
2firve FLG (0 0.080 + 0.030 )X ( 0.540 + 0.060)Xx 1 X 2 = 0.132 m2
Z WAt 0.190 X ( 0.155 + 0.030) X 2 X 2 = 0.141 m2
At 0.273 m2
1 AT 0.273 m2
& ST L] T
£¢ (mm) (B AT 472 9)
¢ 26.5 13 7T X 1 fEpT = 13 & AT
& RPN (=R X TR XT)
y=L.7TH% FLG 0.080 X 0.002 X 0.540 X 1700 X 1 = 0.147 kg
n A 0.190 X 0.002 X 0.155 X 1700 X 2 = 0.200 kg
At 0.347 kg
1 A 0.347 kg
L ERZ RIS
Fewekmy FLG (0 0.080 + 0.030 )X ( 0.540 + 0.060)X 1 X 2 = 0.132 m2
” WA 0.190 X ( 0.155 + 0.030) X 2 X 2 = 0.141 m2
I TBCM22) 5. 06 / 1000 X 13 = 0.066 m2
&t 0.339 m2
1 T 0.339 m2
& LIk
GUSS ( 0.250 - 0.080 )X 0.540 X 2 X 1 = 0.184 m2
PERREE 0.190 X 0.155 X 2 X 2 = -0.118 m2
At 0.066 m2
1 T 0.066 m2



1 . 15. kFSEBHF it
(EHETRM & OmaWE., T8 T EHE0) o 1 & T
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) | (kg/te) (ke) | BT & (kg)
1 - PL 375 X 9 466| 70.7| 12.3 1 12 12| SS400| /1
1 - PL 190 X 9 155| 70.7| 2.08 1 2 2] ss400 /N
1 - PL 160 X 9 230 70.7| 2.6 1 3 3] ss400 /)
B EA G 17 17
O RN N E(EFSY) _ 18 % P {%% B (kg) | ME | A
(kg/18) (kg) 18 %
5 - WSB MUTF24 X 20 0.678 5 3 5 3pcMa40| /N
4 - TCB M22 X 65 0. 508 4 2 4 2| siot| EEA
6 - TCB M22 X 80 0. 553 6 3 6 3] stotT| BEA
4 & & 15 15
BHEGFE 8 8
&~y NS L 15 & X 1 & = 15 A
& 3 A
2flir v BOTT (0 0.100 + 0.030 )X ( 0.466 + 0.060)xX 1 X = 0. 068 m2
Z WAt 0.190 X ( 0.155 + 0.030) X 1 X 2 = 0.070 m2
I s 0,160 X (1 0.230 + 0.030) X 1 X 2 = 0.083 m2
A Ft 0.221 m2
1 & 0.221 m2
& ST L T
#& (mm) AT 472 9)
¢ 26.5 15 & 77 X 1 @Epr = 15 & 7T
& REEFHEA (R % RS T)
y=L7H¥% BOTT 0.100 X 0.002 X 0.466 X 1700 X 1 = 0.158 kg
n A 0.190 X 0.002 X 0.155 X 1700 X 1 = 0.100 kg
" sEmie 0,160 X 0.002 X 0.230 X 1700 X 1 = 0.125 kg
&3 0.383 kg
1 AT 0.383 kg
L EERZ RS
Tew-bmy BOTT (0 0.100 + 0.030 )X ( 0.466 + 0.060)x 1 X = 0. 068 m2
Z WA 0.190 X ( 0.155 + 0.030) X 1 X 2 = 0.070 m2
I s 0,160 X (1 0.230 + 0.030) X 1 X 2 = 0.083 m2
” B2 5,06 / 1000 X 10 = 0.051 m2
" WSB 7.37 / 1000 X 5 = 0.037 m2
&5 0.309 m2
1 AT 0.309 m2

® TR



GUSS ( 0.375 - 0.100 )X 0.466 X 2 X 1 0.256 m2
PR 0.190 X 0.155 X 1 X 2 -0. 059 m2
semre 0,160 X 0.230 X 1 X 2 -0.074 m2
A Et 0.123 m2
& T 0.123 m2



1 . 16. %t &R 41 G A b 5%
CeHEUHE B3t o THUME 48) e L 18 T
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
2 - L 75 X 75 X 9| 700| 9.96 7 2 14 14]$S400] /I
B A Gt 14 14
O PR (TS 72 D) e e ol L (R O [P
(kg/f8) (kg) 1 %
8 - TCB M20 X 60 0.367 8 3 8 3| stor| mEA
18 %4 5t 8 8
B EA 3 3
L iR
2fir vy FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
7 WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)X 2 = 0.153 m2
A Ft 0.270 m2
1 & 0.270 m2
& ST L T
#& (mm) AT 472 9)
b 24.5 8 & Al X 1 @Epr = 8 &I
& REEFHEM (R X g $T)
y=L.TA1% FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB  0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
&3 0.738 kg
1 fEpT 0.738 kg
L ETRZR L
Fed- k@ FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0.153 m2
" CORO 4,02 /1000 X 8 = 0.032 m2
&3 0.302 m2
1 AT 0.302 m2



1. 17, XFBERH G A b 5%
CoHBUH L 3b & THURIE 4-22) e L 18 T
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
2 - L 75 X 75 X 9| 700| 9.96 7 2 14 14]$S400] /I
B A Gt 14 14
O PR (TS 72 D) e e ol L (R O [P
(kg/f8) (kg) 1 %
7 - TCB M20 X 60 0.367 7 3 7 3| sioT| EEA
18 %4 5t 7 7
28 Seis 3 3
L iR
2fir vy FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
7 WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)X 2 = 0.153 m2
A Ft 0.270 m2
1 & 0.270 m2
& ST L T
#& (mm) AT 472 9)
¢ 24.5 7 T X 1 T = 7 &P
& REEFHEM (R X g $T)
y=L.TA1% FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB  0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
&3 0.738 kg
1 fEpT 0.738 kg
L ETRZR L
Fed- k@ FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0.153 m2
" CORO 4,02 /1000 X 7 = 0.028 m2
&3 0.298 m2
1 AT 0.298 m2



1 . 18. Xf BERHF G A b 5%
CoHBUH L 3%b & THUME  4-832) e L 18 T
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
2 - L 75 X 75 X 9| 700| 9.96 7 2 14 14]$S400] /I
B A Gt 14 14
O PR (TS 72 D) e e ol L (R O [P
(kg/f8) (kg) 1 %
7 - TCB M20 X 60 0.367 7 3 7 3| sioT| EEA
18 %4 5t 7 7
28 Seis 3 3
L iR
2fir vy FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
7 WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)X 2 = 0.153 m2
A Ft 0.270 m2
1 & 0.270 m2
& ST L T
#& (mm) AT 472 9)
¢ 24.5 7 T X 1 T = 7 &P
& REEFHEM (R X g $T)
y=L.TA1% FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB  0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
&3 0.738 kg
1 fEpT 0.738 kg
L ETRZR L
Fed- k@ FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0.153 m2
" CORO 4,02 /1000 X 7 = 0.028 m2
&3 0.298 m2
1 AT 0.298 m2



1 .19, Xf BERHF B T 5% 6
CeHERE F5%M & THAHIE  4-41~4-43, 4-46~4-48, 4-54~4-55) ~ ———————- 3 T
® SUH R (L4 72 0) x| RORR ] |[HE L 3ET s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
2 - L 75 X 75 X 9| 700| 9.96 7 2 14 421 8S400| /I
2 - L 75 X 75 X 9] 700| 9.96 7 2 14 42| 8s400| /h
BHEGFE 28 84
&R N E R (EFT YY) _ 18 % R 3‘,%% B&(kg) | ME | M
(kg/18) (kg) 18 %
7 - TCB M20 X 60 0.367 7 3 21 9| si1oT| A
7 - TCB M20 X 60 0.367 7 3 21 9| s10T| BEA
8 45 & & 14 42
B A 6 18
& 3 A
2Ly FLG 0.160 X ( 1.400 + 0.030) X 1 = 0.229 m2
" WEB  ( 0.075 + 0.030 )X ( 1.400 + 0.030)X 2 = 0.3 m2
aE 0.529 m2
3 AT 1.587 m2
& ST L] T
£¢ (mm) (B AT 472 9)
$24.5 14 47T X 3 AT = 42 & T
& REEFHEEA (=R X RN T)
y=L.TH#Y  FLG  0.160 X 0.002 X 1.400 X 1700 = 0.762 kg
WEB 0.075 X 0.002 X 1.400 X 1700 X 2 = 0.714 kg
&3 1.476 kg
3 AT 4.428 kg
L ETRR b
Fedo k29 FLG O 0.160 X (1.400 + 0.030) X 1 = 0.229 m2
WEB  ( 0.075 + 0.030 )X ( 1.400 + 0.030)X 2 = 0.3 m2
" WCOZO 4,02 /1000 X 14 = 0.056 m2
&t 0.585 m2
3 fEET 1.755 m2



1 .20, XfBERHF B T 5% 6
CeHBUH T 3%H & THUMIE  4-59~4-60) e 1 g
® SUH R (L4 72 0) x| RORR ] [HEL VI s
(mm) | (kg/m) [ (kg/fE) (ke) | BT & (kg)
2 - L 75 X 75 X 9| 700| 9.96 7 2 14 14]$S400] /I
B A Gt 14 14
O PR (TS 72 D) e e ol L (R O [P
(kg/f8) (kg) 1 %
7 - TCB M20 X 60 0.367 7 3 7 3| sioT| EEA
18 %4 5t 7 7
28 Seis 3 3
L iR
2fir vy FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
7 WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)X 2 = 0.153 m2
A Ft 0.270 m2
1 & 0.270 m2
& ST L T
#& (mm) AT 472 9)
¢ 24.5 7 T X 1 T = 7 &P
& REEFHEM (R X g $T)
y=L.TA1% FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB  0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
&3 0.738 kg
1 fEpT 0.738 kg
L ETRZR L
Fed- k@ FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0.153 m2
" CORO 4,02 /1000 X 7 = 0.028 m2
&3 0.298 m2
1 AT 0.298 m2



2 @ b3 R (K)

2 1. kS EAS

T Task 2

(FEMHE N7 A TFEM & ClRMiE 1-27,1-29) -~ 1 &
R — po
o SR o (kjfii) %% ii g%i’? HE | #10
1 - PL 350 X 9 1290 70.7[ 91.2 1 91 91] 85400 /I
BHEGFE 91 91
L BN &y - 18 % b 1‘%% H&(kg) | ME | MH
(kg/f8) (kg) 1 %
27 - WSB  MUTF24 X 25 0. 695 27 19 27 19 PCM440 | s A
855 & =t 27 27
BEAF 19 19
& 55 HH A
oMLy WEB (1.290 + 0.060 ) X 0.360 X 1 = 0.486 m2
aE 0.486 m2
1 AT 0. 486 m2
& ST L] T
£ (mm) EHL720)
¢ 26.5 27 AT X 1 fEpT = 27 f& AT
& REEFHEEA (=R X URE N T)
y=L.7TH% WEB 0.350 X 0.002 X 1.290 X 1700 X 1 = 1.535 kg
&3 1.535 kg
1 AT 1.535 kg
\ ETRVR
Teow-bmy WEB (0 1.290 + 0.060 ) X 0.360 X 1 = 0.486 m2
Fodebmo o MUTF24  7.37 /1000 X 27 = 0.199 m2
&3 0.685 m2
1 AT 0.685 m2



2 . 2. KB AE THE M EM

(EM N7 A FM b THIE 1-30,1742) e 1 g
o GIH AR o2 PORE g | TE | VI | s
mm) | (kg/m) | (kg/fE) (ke) | BT & (kg)
1 - PL 350 X 9 1650 70.7|116.7 1 117 117($s400| /I
B A 117 117
RN EE i P VAP mao | mm | e
(kg/fH) (kg) 18 %
33 - WSB  WMUTF24 X 25 0.695 33 23 33 23 BCM440 | A
8 45 & & 33 33
B A 23 23
& & Hh g
2fi vy WEB ( 1.650 + 0.060 ) X 0.360 X 1 = 0.616 m2
&3 0.616 m2
1 T 0.616 m2
& ST L L
#£& (mm) AfEFTY 7= 9)
¢ 26.5 33 AT X 1 &t = 33 AT
& N (=R x VB T)
y=L7THI%  WEB  0.350 X 0.002 X 1.650 X 1700 X 1 = 1.964 kg
& 1.964 kg
1 1.964 kg
L ERZR L
Fed- ko WEB (1.650 + 0.060 ) X 0.360 X 1 = 0.616 m2
Fede kmo MUTF24 7.37 /1000 X 33 = 0.243 m2
&t 0.859 m2
1 T 0.859 m2



2 . 3. K REA

TR EA A

(EMEEM & THRMME  1-49, 1-55, 1-110, 1-117)  ———————————————————— 4 & A
o GIH AR o2 PORE g | TE | I s
mm) | (kg/m) | (kg/fE) (ke) | BT & (kg)
2 - L 90 X 90 X 10| 320| 13.3[ 4.3 2 9 36| ss400| /I
B A 9 36
TS o | T B pme | e | e
(kg/f@) (kg) 1 %5
3 - TCB M22 X 65 0.508 3 2 12 8| s10T| B#EA
8 45 & & 3 12
B EA e 2 8
& 5
2fir vy WEB (0.090 + 0.030 )X ( 0.320 + 0.060) X 2 = 0.091 m2
FLG  0.180 X ( 0.320 + 0.060) X 1 = 0.068 m2
At 0.159 m2
4 fEPT 0.636 m2
& ST L T
#& (mm) AT 472 9)
¢ 26.5 3 T X 4 AT = 12 {4
& REEFHEM (R X g $T)
y=L 7%  WEB  0.090 X 0.002 X 0.320 X 1700 X 2 = 0.196 kg
FLG 0.180 X 0.002 X 0.320 X 1700 X 1 = 0.196 kg
&3 0.392 kg
4 EFT 1.568 kg
L ETRZR L
Toe-kmo WEB (0 0.090 + 0.030 )X ( 0.320 + 0.060) X 2 = 0.091 m2
FLG 0.180 X ( 0.320 + 0.060 ) = 0. 068 m2
" mCORD 506 /1000 X 3 = 0.015 m2
A Ft 0.174 m2
4 fEAT 0.696 m2



2 .4 K BRERHS

FERERA 2
(BHHRM T Z 8

HTHERME 1-71)

o TR P R pE | H
(mm) | (kg/m) | (kg/f80)
2 - L 125 X 75 X 13| 1400| 19.1] 26.7 $S400( /i
ERGE
RN EE i P pm |
(ke/fA) (kg)
12 - TCB M20 X 60 0.367 12 4 S10T| M A
8 45 & & 12
ERGE 4
& 35 A A
ofirLe WEB (0 0.075 + 0.030 )X ( 1.400 + 0.060) X 0.307 m2
FLG  0.180 X ( 1.400 + 0.060) X 1 0.263 m2
aE 0.570 m2
1 AT 0.570 m2
& ST L] T
£¢ (mm) (B AT 472 9)
$24.5 12 &t = 12 &7
& RREFHEA (R % VRS T)
y=L 7Y WEB 0.075 X 0.002 X 1.400 X 1700 X 0.714 kg
FLG 0.180 X 0.002 X 1.400 X 1700 X 0.857 kg
&% 1.571 kg
1 AT 1.571 kg
L ER RS
Few-ok®mo  WEB (0 0.075 + 0.030 )X ( 1.400 + 0.060) X 0.307 m2
FLG  0.180 X ( 1.400 + 0.060) X 1 0.263 m2
" 0RO 4,02 /1000 X 12 0.048 m2
A Ft 0.618 m2
1 AT 0.618 m2




3. E®FSR(H)
3. LK TR A

E(n_{

(RN 7 7 2> Ve THRAIE  2-59) - 1 &
o — po
o SR o (kjfii) %% ii g%i’? HE | #10
2 - L 125 X 75 X 13| 410| 19.1| 7.8 2 16 16 SS400| /I
BHEGFE 16 16
&R EE - 18 % b 1‘%% HE(ke) | ME | MH
(kg/f8) (kg) 1 %
4 - TCB M20 X 60 0.367 4 1 4 1| sioT| HEA
8 $52 5h 4 4
28 Seis 1 1
& 55 HH A
2fi vy WEB ( 0.075 + 0.030 )X ( 0.410 + 0.060) X 2 = 0.099 m2
FLG  0.180 X ( 0.410 + 0.060) X 1 0.085 m2
A Ft 0.184 m2
1 & 0.184 m2
& ST L T
£& (mm) (IEFTH7=0)
¢ 24.5 4 & X 1 Epr = 4 f
& REEFHEEA (=R X R XT)
y=L.7TAY  WEB  0.075 X 0.002 X 0.410 X 1700 X 2 = 0.209 kg
FLG 0.180 X 0.002 X 0.410 X 1700 X 1 X 1 = 0.251 kg
&% 0.460 kg
1 AT 0.460 kg
\ ETRVR
Fedekmy  WEB (0 0.075 + 0.030 )X ( 0.410 + 0.060) X 2 = 0.099 m2
FLG  0.180 X ( 0.410 + 0.060) X 1 = 0.085 m2
I WCORO 4,02 /1000 X 4 = 0.016 m2
A Ft 0.200 m2
1 & 0.200 m2



3 . 2. X RERAS

TR AR

BN Z o P THRMiE 2-62~2-64)  ———————————— e INEYs
o GIH AR g s AT
(mm) | (kg/m) | (kg/f80)
2 - L 1256 X 75 X 13| 740| 19.1| 14.1 $S400( /i
ERGE
oL i P o | w
(ke/fA) (kg)
7 - TCB M20 X 60 0.367 7 3 S10T| M A
8 45 & & 7
ERGE 3
& 35 A A
ofirLe WEB (0 0.075 + 0.030 )X ( 0.740 + 0.060) X 0. 168 m2
FLG  0.180 X ( 0.740 + 0.060) X 1 0.144 m2
aE 0.312 m2
1 f&pT 0.312 m2
& ML T
£ (mm) EHL720)
¢ 24.5 7 T = 7 P
& RREFHEA (R % VRS T)
y=L 7Y WEB 0.075 X 0.002 X 0.740 X 1700 X 0.377 kg
FLG 0.180 X 0.002 X 0.740 X 1700 X 0.453 kg
&% 0.830 kg
1 AT 0.830 kg
L ER RS
Few-okmo  WEB (0 0.075 + 0.030 )X ( 0.740 + 0.060) X 0.168 m2
FLG 0.180 X ( 0.740 + 0.060) X 1 0.144 m2
" 0RO 4,02 /1000 X 7 0.028 m2
A Ft 0.340 m2
1 AT 0.340 m2




4 . E M- SEAT - WA
4L EGEH AT

(F235>Y 5-170) - 1 &R
OHMMBE (EMELY) (Eé FEAS & % L "B ME | #HhH
mm) | (ke/m) | (ke/@) (ke) | =2 (keg)
2 - L 90 x 90 x 10| 1900| 13.3] 25.3 2 51 51] $S400| /i
BEESE 51 51
oA B (BFLRY) U m |EE | BT g | mE | wa
(ke/f8) (ke) 1A %
17 - TCB M22 x 70 0.523 17 9 17 9 S10T| BEA
B % &5t 17 17
BEESE 9 9
¢ R E
2L FLG 0.180 x ( 1.900 + 0.060) x 1 x 1 = 0.353 m2
" WEB ( 0.090 + 0.030 )x ( 1.900 + 0.060)x 2 x = 0.47 m2
&t 0.823 m2
1 T 0.823 m2
ST T
#Z (mm) (EFL7EY)
®26.5 17 T X 1 &t = 17 &R
O REREM (TRFIHEB/NT)
r=1.748% FLG 0.180 x 0.002 x 1.900 x 1700 x 1 = 1.163 kg
WEB 0.090 x 0.004 x 1.900 x 1700 x 2 = 2.326 kg
&% 3.489 kg
1 T 3.489 m2
O RIGEE
w-e-t2y WEB ( 0.090 + 0.090 + 0.030 )x ( 1.900 + 0.060)x 2 = 0.823 m2
" BCW2) 506 / 1000 X 17 = 0.086 m2
&5t 0.909 m2
1 f&pT 0.909 m2



1. wHEHE (B R A
LRGSR, kMR

CRHERERIEA @« FREH) 1K
. & HNLE & W | B 1K
4 B OARY7- & ~ =
O R E R (IARYS7=0) m) | kg/m) | (kgD fE %k (kg) BB (kg) e MR
1 - L 75 X 75 X 9 1700/ 9.96 16.9 1 17 17/ SS400/ /|
1 - L 75 X 75 X 9 1625 9.96 16.2 1 16 16/ SS400 /|
1 - PL 155 X 9 X 200 70.7  2.19 1 2 2 SS4001 /)
HEAH 35 35
. " W B . | BE 1K
ORIV NEEAARYTEY = g Bk ®
7 SE(ARY ) (ke/ D) (R (k) (% B = (kg) MeE | MhA
18 - TCB M22 X 55 0.478 18 9 18 9 SI10T| A
i A5t 18 18
HEAH 9 9
U~y N4 L 18 K X 1K = 18 K
& 3R
ofi/rL Y GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 92 = 0.281 m2
s 0.281 m2
{ * 0.281 m2
@& ST LA T
25 (mm) (1ARY7=1)
¢ 26.5 12 fEHT X 1A = 12 %
@ REEREER (=R % T RHE /37 )
y=1.THY BEFF 0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
s 0.235 kg
1 PN 0.235 kg
& Bl TR
Feme @y GUSS (0 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 92 = 0.281 m2
n I 0.155 X 0.200 X 1 X 2 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 18 = 0.091 m2
s 0.434 m2
{ * 0.434 m2
& TGk
kT 9.960 X 1.700 X 0.0292 - 0.075 X 0.230 X 2 X 2 = 0.425 m2
I 9.960 X 1.625 X 0.0292 — 0.075 X 0.230 X 2 X 2 = 0.404 m2
PERR 0.155 X 0.200 X 2 X 1 = -0. 062 m2
s 0. 767 m2

1 * 0.767 m2



1. 2. RFGEAF

RHEUE 72 » R

CRHERE T 5564 58 QD) 1 &7
@ SH R (1S 7= 0 ) & | HUEE |, KA W B
(mm) | (kg/m) | (ke/fA) (kg) = B
1 - PL 318 X 9 X 732 70.7 16.5 1 17 SM400AT /s
1 - PL 160 X 9 X 732 70.7 8.28 1 SM400A /s
BHEAR 25
R MR QEFTS D) k| g R LERT | B
- (kg/ 1) (kg) fE %K _
14 - TCB M22 X 55 0.478 14 14 7 SIOT HEA
14 - TCB M22 X 65 0.508 14 14 7 SIOT fEA
EBCA 7 28 28
BHEAR 14
® LT RV MESRL 28 K X = 28 K
L ESCin kS
2ffi/r L FLG 0.160 X ( 0.732 + 0.060) X 2 0. 253 m2
I WA (0 0.305 + 0.030)X 0.075 X 2 X 2 0.101 m2
" WA (0 0.230 + 0.030) X 0.075 X 2 X 0.078 m2
AE 0.432 m2
1 Epr 0.432 m2
@ SRt FLBA T
#& (mm) (fEFFY729)
$26.5 28 fEFT X = 28 fEFT
& REEFRHEER (2R X R T)
y=1.7TF2 FLG 0.160 X 0.002 X 0.732 X 1700 X 0. 398 kg
I WA 0.075 X 0.002 X 0.305 X 1700 X 0. 156 kg
I WA 0.075 X 0.002 X 0.230 X 1700 X 0.117 ke
AEF 0.671 ke
1 Epr 0.671 kg
L EIRRR S
T by FLG 0.160 X ( 0.732 + 0.060) X 2 0. 253 m2
N TBC(M22)  5.06 / 1000 X 28 0. 142 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X 0.101 m2
" WA (0 0.230 + 0.030) X 0.075 X 2 X 2 0.078 m2
AE 0.574 m2
1 Epr 0.574 m2
& ik
GUSS 0.318 X 0.732 X 2 0. 466 m2
FEERES 0.305 X 0.075 X 2 X -0. 092 m2
no0.230 X 0.075 X 2 X -0. 069 m2
AE 0. 305 m2
1 Epr 0. 305 m2




1. 3. Xt G b TR
(FHERED) VN
o W = HANE & . | BB 2 A
G (IR ST 1) s o G TS mma | HE A
1 - PL 140 X 9 6090 70.7 60 1 60 120/SM400AT /[N
1 - PL 190 X 9 6130 70. 7 82 1 82 165/SM400A| /[~
BHEAR 142 285
B BT =R
oL MR (A D) o ﬂ;;}? BRGe) | HE | M
8 - TCB M22 X 55 0.478 16 8 SIOT HEA
i &5t 16
BHEAR 4 8
U~y N4 L 8 A X 2 K = 16 A&
& R
offi// L GUSS ( 0.190 + 0.060 )X ( 0.155 + 0.030)X 2 = 0. 093 m2
I " ( 0.190 + 0.060 )X ( 0.155 + 0.030)X%X 2 = 0. 093 m2
&3 0. 186 m2
2 A 0. 372 m2
@ ST LB T
& (mm) (A4 721)
$26.5 8 AT X 2 A = 16 AT
& REEFREER (=A% VMR <7 )
y=1. 7Y GUSS 0.190 X 0.002 X 0.155 X 1700 X 1 = 0. 100 kg
I no0.190 X 0.002 X 0.155 X 1700 X 1 = 0. 100 kg
ok 0.200 kg
2 A 0. 400 kg
L EIRRR S
T by GUSS (1 0.190 + 0.060 )X ( 0.155 0.030) X 2 = 0. 093 m2
I I ( 0.190 + 0.060 )X ( 0.155 0.030) X 2 = 0. 093 m2
N TCBM22)  5.06 / 1000 X 8 = 0.04 m2
&3 0. 226 m2
2 AT 0. 452 m2
& [k
WAF 0.140 X 6.090 X 2 X 1 = 1. 705 m2
WA 0.190 X { 6.130 - ( 0.155 0.030 )
- ( 0.155 0.030 )} X 2 X 1 = 2. 189 m2
&3 3. 894 m2
2 A 7.788 m2



1. 4. S REH A

CRHERE N & OBUEWES,  FAREHMERE D) 1 f&pr
" _ BANE & v | B 1 f&pr
SRS (LTS 7 ks H T
@A S E (15T S 720) m) | eg/m) | (kgD (R (kg) BB (kg) ME | MhA
1 - PL 250 X 9 540 70.7 9.54 1 10 10/ SS400| /)
HEAF 10 10
. ” . WATE . B 1 &
L VI &R N ) = " B & (kg) e MR
7 Fog (1T ) (ke/ D) 8%k (kg) (% & (kg ME Ok
5 - TCB M22 X 55 0.478 2 S10T| BEA
8 - TCB M22 X 55 0.478 8 4 8 4/ S10T HEA
%5 &5t 13 13
HEAR 6 6
U~y MEAL 13 K X 1 f&pr = 13 K
& E TR
2f /7L FLG  ( 0.080 + 0.030 )X ( 0.540 + 0.060)Xx 1 X 2 = 0. 132 m2
y A 0.190 X ( 0.155 + 0.030) X 2 X 2 = 0.141 m2
s 0.273 m2
1 EFT 0.273 m2
& ST FLEA T
& (mm) (&4 7-9)
$26.5 13 AT X 1 EEr = 13 AT
@ REFHEM (R s/ 3X7)
y=L.7/Y% FLG 0.080 X 0.002 X 0.540 X 1700 X 1 = 0.147 kg
y A 0.190 X 0.002 X 0.155 X 1700 X 2 = 0.200 kg
s 0. 347 kg
1 EFT 0. 347 kg
& LG
FTeek®y FLG ( 0.080 + 0.030 )X ( 0.540 + 0.060)X 1 X 2 = 0. 132 m2
y A 0.190 X ( 0.155 + 0.030) X 2 X 2 = 0.141 m2
N TBC(M22)  5.06 / 1000 X 13 = 0. 066 m2
s 0. 339 m2
1 EFT 0.339 m2
& LGt
GUSS ( 0.250 - 0.080 )X 0.540 X 2 X 1 = 0. 184 m2
PERRER 0.190 X 0.155 X 2 X 2 = -0. 118 m2
s 0. 066 m2

1 f&FT 0. 066 m2



1. 5. Xf G b TR
(EAE Foght & OBGEWES, A Tz @) 1 f&pT
- el XA =g w | BE 1 &pT
@ SRR (LTS 72 0) s o G TS mman | HE A
1 - PL 375 X 9 466 70.7] 12.3 1 12 12] SS400] /s
1 - PL 190 X 9 155 70.7 2.08 1 2 2] $S400/ /)
1 - PL 160 X 9 230 70.7 2.6 1 3 3] ss4000 /)
BHEAR 17 17
B BT =R i
&L N R (Y7 D) o | %g"]ﬁ HRGe) | ME H
5 - WSB  MUTF24 X 20 0.678 5 5 3/ScMa40] /s
4 - TCB M22 X 65 0.508 4 2 SI10T HEA
6 - TCB M22 X 80 0.553 6 3 6 3 SI0T HEA
EHCA 15 15
BELE 8 8
U~y N4 L 10 & X 1 gy = 10 A
& R
offi/ L BOTT ( 0.100 + 0.030 )X ( 0.466 + 0.060)x 1 X = 0. 068 m2
I WA 0.190 X ( 0.155 + 0.030) X 1 X 2 = 0. 070 m2
I sgsre 0, 160 X (1 0.230 +  0.030) X 1 X 2 = 0. 083 m2
&3 0.221 m2
1 T 0.221 m2
& ST LB T
#& (mm) (fEFFY729)
$26.5 15 AT X 1 & = 15 AT
& REEFRHEER (=A% VMR <7 )
y=1. 72 BOTT 0.100 X 0.002 X 0.466 X 1700 X 1 = 0. 158 kg
I WA 0.190 X 0.002 X 0.155 X 1700 X 1 = 0. 100 kg
I sEmre 0,160 X 0.002 X 0.230 X 1700 X 1 = 0. 125 kg
ok 0. 383 kg
1 T 0. 383 kg
L EIRRR S
Fede ko BOTT  ( 0.100 + 0.030 )X ( 0.466 + 0.060)x 1 X = 0. 068 m2
I WA 0.190 X ( 0.155 + 0.030) X 1 X 2 = 0. 070 m2
I sgsre 0, 160 X (0.230 +  0.030) X 1 X 2 = 0. 083 m2
N TCB(M22)  5.06 / 1000 X 10 = 0.051 m2
I WSB  7.37 / 1000 X 5 = 0. 037 m2
&3 0. 309 m2
1 Epr 0. 309 m2
& [k
GUSS ( 0.375 - 0.100 )X 0.466 X 2 X 1 = 0. 256 m2
PEBREL 0.190 X 0.1556 X 1 X 2 = -0. 059 m2
sgmre 0. 160 X 0.230 X1 X 2 = -0. 074 m2
&3 0.123 m2
1 Epr 0. 123 m2



1. 6. XIS SHERE Eir
GeHEHE Eight & CTHifE 3-3~3-7) 1 & T
S JE = BN B & . | BB 1 T
& G (LI 7 D) o o o T Gn | mmn | ME | HA
4 - L 75 X 75 X 9 865 9.96] 8.6 4 34 34| SS4000 /)
HEAit 34 34
BT B JiE=N ]
&L N R (Y7 D) o | %g"]ﬁ Rk | HE | M
16 - TCB M20 X 60 0. 367 16 16 6 S10T| HEA
EHCA 16 16
HEAit 6 6
& S5
2ffir Ly FLG  0.160 X ( 0.865 + 0.030) X 1 = 0.143 m2
I WEB  ( 0.075 + 0.030 )X ( 0.85 + 0.030)%x 2 = 0. 188 m2
- 0.331 m2
1 AT 0.331 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 16 AT X 1 f&5F7 = 16 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.865 X 1700 = 0.471 kg
WEB 0.075 X 0.002 X 0.865 X 1700 X 2 = 0. 441 kg
& 0.912 kg
1 AT 0.912 kg
L EIR RS
Fedi- ko FLG 0.160 X ( 0.865 + 0.030) X 1 = 0.143 m2
WEB  ( 0.075 + 0.030 )X ( 0.85 + 0.030)x 2 = 0. 188 m2
N TBC(M20)  4.02 / 1000 X 16 = 0. 064 m2
& 0. 395 m2
1 AT 0. 395 m2



1. 7. SHEE 5Lk

CeHERE _E3ibs & CTRifE 3-33) 1 f&pT
S JE = BN B & . | BB 1 &pT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 790 9.96] 7.9 2 16 16] SS400 /]
HEAit 16 16
BT B JiE=N ]
&L N R (Y7 D) o | %g"]ﬁ HRGe) | ME H
8 - TCB M20 X 60 0. 367 3 S10T| A
EHCA
HEAit 3 3
& S5
2ffr Ly FLG  0.160 X ( 0.790 + 0.030) X 1 = 0.131 m2
I WEB  ( 0.075 + 0.030 )X ( 0.790 + 0.030)x 2 = 0.172 m2
- 0.303 m2
1 AT 0. 303 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 8 AT X 1 f&5F7 = 8 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.790 X 1700 = 0. 430 kg
WEB 0.075 X 0.002 X 0.790 X 1700 X 2 = 0. 403 kg
ok 0. 833 kg
1 AT 0. 833 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.790 + 0.030) X 1 = 0.131 m2
WEB  ( 0.075 + 0.030 )X ( 0.790 + 0.030)x 2 = 0.172 m2
N TBC(M20)  4.02 / 1000 X 8 = 0.032 m2
& 0. 335 m2
1 AT 0. 335 m2



1. 8. X KHERE T %A
CeHERE T o%b & TRl 3-27) 1 f&pT
. O = SR A v | BB 1 & HT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 700 9.96 7 2 14 14| SS400 /]
HEAit 14 14
BT B JiE=N ]
&L N R (Y7 D) o | %g"]ﬁ HRGe) | ME H
7 - TCB M20 X 60 0. 367 3 S10T| A
EHCA
HEAit 3 3
& S5
2ffr Ly FLG  0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
I WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
- 0.270 m2
1 AT 0. 270 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 7 AT X 1 f&5F7 = 7
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB 0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
ok 0. 738 kg
1 AT 0. 738 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
N TBC(M20)  4.02 / 1000 X 7 = 0. 028 m2
& 0. 298 m2
1 AT 0. 298 m2



2 . xHERE (B R 4D

2 .1 R KHERERA
CRHMEAERA @8R HA) 1A
S w & SR A . | BB 1A
® SRR (1572 1 ) o o o T Gn | mmee | ME | HA
1 - L 75 X 75 X 9 1310 9.96 13 1 13 137 SS4007 /1
1 - L 75 X 75 X 9 1460 9.96 14.5 1 15 15 SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 20 85400 /)
HEAit 30 30
B =R
oL MR (A D) o ﬂlﬂ;}? HRGke) | HE MK
8 - TCB M22 X 60 0. 493 8 8 4 SI10T HEA
14 - TCB M22 X 55 0.478 14 7 14 7 S10T HBEA
EHCA 22 22
HEA 11 11
U~y N4 L 22 K X 1A = 22 K
& 5 H R
2f/7 L2 GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
A 0. 362 m2
1 fH5pr 0. 362 m2
@ ST LA T
#& (mm) (IA%7-1)
$26.5 16 %77 X N = 16 T
& REEFREER (2R X RN T)
y=1.THY BEFF  0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
ok 0.311 kg
1 A 0.311 kg
L SR AT
Fee ko GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
I o 0.155 X 0.200 X 2 X 1 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AE 0. 535 m2
1 A 0. 535 m2
& Lk
WS 9.960 X 1.310 X 0.0292 - 0.075 X 0.305 X 2 X = 0. 289 m2
n9.960 X 1.460 X 0.0292 - 0.075 X 0.305 X 2 X = 0.333 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
AE 0. 56 m2
1 A 0. 560 m2



2 . 2. XA KHERERA
CRHMEAERA @B R HA) 3K
S w = BN B & v | BB 3K
& SRR (IR 72 0) s o G TS mmae | ME A
1 - L 75 X 75 X 9 1700/ 9.96/ 16.9 1 17 51 SS400] /I
1 - L 75 X 75 X 9 1625 9.96 16.2 1 16 49/ SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 7 SS400) /]
HEAit 35 106
B BT =R
oL MR (A D) o g %;ﬁ HRGke | HE MK
22 - TCB M22 X 55 0.478 22 11 66 33] S10T HEA
EEA 22 66
HEAF 11 33
&~y N4 L 22 K X 3 AR = 66 A
L ESin kS
2f/7 L2 GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
AEF 0. 362 m2
3 ET 1. 086 m2
& ST LA T
#& (mm) (A4 721)
$26.5 22 &7t X 3K = 66 {577
& REEFRHEER (2R X R T)
y=1L.THY BEFF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
ok 0.311 kg
3 K 0.933 kg
L SR AT
Fee ko GUSS (0 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
" no0.155 X 0.200 X 2 X 1 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AEF 0.535 m2
3 K 1. 605 m2
& Lk
WA 9.960 X 1.700 X 0.0292 - 0.075 X 0.305 X 2 X 2 = 0.403 m2
”o9.960 X 1.625 X 0.0292 - 0.075 X 0.305 X 2 X = 0. 381 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
AE 0.722 m2
3 K 2. 166 m2



2 . 3. AR KHERERA
CRHERERIBA @« LR FT) 1A
S w = BN B & v | BB 1A
& SRR (IR 72 0) s o G TS mma | HE A
1 - L 75 X 75 X 9 1700/ 9.96/ 16.9 1 17 17 SS4007 /1
1 - L 75 X 75 X 9 1625 9.96 16.2 1 16 16 SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 20 85400 /)
HEAit 35 35
B =R
oL MR (A D) o ﬂlﬂ;}? HRGke | HE MK
18 - TCB M22 X 55 0.478 18 9 18 9 S10T| HEA
EEA 18 36
HEAF 9 9
&~y N4 L 18 K X 1K = 18 A
L ESin kS
2ffi/r L2 GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 2 = 0.281 m2
AEF 0.281 m2
1 A 0.281 m2
& ST LA T
#& (mm) (A4 721)
$26.5 12 T X N = 12 T
& REEFRHEER (2R X R T)
y=1L.THY BEFF  0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
ok 0.235 kg
1 A 0.235 kg
L SR AT
T bgy GUSS  ( 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 2 = 0.281 m2
" no0.155 X 0.200 X 1 % 2 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 18 = 0.091 m2
AEF 0.434 m2
1 A 0. 434 m2
& Lk
WS 9.960 X 1.700 X 0.0292 - 0.075 X 0.230 X 2 X 2 = 0. 425 m2
no9.960 X 1.625 X 0.0292 - 0.075 X 0.230 X 2 X = 0. 404 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
AE 0.767 m2
1 A 0.767 m2



2 . 4. RSB KHERERA
CRHERERIBF @ = B RERH) 1A
o w HAE & v | BE 1 A&

SRR (LA %72 0) s o G TS mma | HE A
2 - L 90 X 75 X 9 3545 11.0] 39.0 78 78 SS400] /I
2 - PL 155 X 9 200 70.7| 2.19 4 4 SS400 /)

HEAit 82 82
B =N
oL MR (A D) o ﬂlﬂ;}? HRGke | HE MK
34 - TCB M22 X 55 0.478 34 16 34 16/ S10T| HWEA
EHCA 34 34
HEAit 16 16
&~y ML 34 K X 1A = 34 K
& S5 HFHEE
2fi/r 1> GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030) X 4 2 = 0. 362 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 2 = 0.162 m2
&3 0.524 m2
1 N 0. 524 m2
& ST LA T
#& (mm) (A4 721)
$26.5 34 AT X 1A = 34 AT
& REFEERS (R SRS T7)
y=1L.THY BEFF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
" I 0.075 X 0.002 X 0.300 x 1700 X 2 = 0.153 kg
ok 0. 464 kg
1 N 0. 464 kg
L SR AT
T kwo GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030) X 4 2 = 0. 362 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 X 2 = 0.162 m2
n I 0.155 X 0.200 X 2 X 2 = 0.124 m2
N TBC(M22)  5.06 / 1000 X 34 = 0.172 m2
&3 0.82 m2
1 N 0. 820 m2
& 55k
WA 11,00 X 3.545 X 0.0291 X 2 - 0.075 X 0.305 X 4 X 2 = 2.087 m2
PEf 0.075 X 2 X 0.300 X 1 X 2 = -0. 090 m2
I 0.155 X 0.200 X 2 X 2 = -0.124 m2
&3 1.873 m2
1 N 1.873 m2




2 . 5. X RERES SHEHERIAS

CGHERERIBA @ = B REH) /N
S w = BN B & v | BB 1A
& SRR (IR 72 0) s o G TS mma | HE A
2 - L 75 X 75 X 9 3545 9.96/ 35.3 2 71 SS400] /]y
2 - PL 155 X 9 200 70.7 2.19 4 SS400) /I
HEAit 75
B BT =R
oL MR (A D) o ﬂlﬂ;}? HRGke | HE MK
30 - TCB M22 X 55 0.478 30 14 30 S10T| HEA
EHCA 30 30
HEAit 14
U~y N4 L 30 A X 1K = 30 K
L ESiE kS
2ffi/r L GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 = 0.281 m2
I " ( 0.075 + 0.060 )X  0.300 X 2 = 0. 162 m2
AEF 0. 443 m2
1 A 0. 443 m2
& ST LA T
#& (mm) (A4 721)
$26.5 18 AT X 1A = 18 AT
& REEFRHEER (2R X R T)
y=1L.THY BEFF  0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
I o 0.075 X 0.002 X 0.300 X 1700 X 2 = 0. 153 kg
ok 0. 388 kg
1 A 0. 388 kg
L SR AT
T ko GUSS (0 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 2 = 0.281 m2
I " ( 0.075 + 0.060 )X 0.300 X 2 X 2 = 0. 162 m2
I no0.155 X 0.200 X 2 X 2 = 0.124 m2
N TBC(M22)  5.06 / 1000 X 30 = 0.152 m2
AE 0.719 m2
1 A 0.719 m2
& Lk
WA 9.96 X 3.545 X 0.0292 X 2 - 0.075 X 0.230 X 4 X = 1.924 m2
PEf 0.075 X 2 X 0.300 X 1 X 2 = -0. 090 m2
no0.155 X 0.200 X 2 X 2 = -0. 124 m2
AE 1.71 m2
1 A 1. 710 m2



2 . 6. PR KHERERA
CRHEAE R E 75 ©) 2 &P
o PR = HANE & . | BB 2 AT
@ SR (17472 0 ) o o o T Gn | mmn | ME A
1 - PL 320 X 9 X 820 70.7 18.6 1 19 38 SS400] /I
HEAit 19 38
WA RT B =N 42 H|
&L N R (Y7 D) o | ﬂ;g’jﬁ Rk | HE M
22 - TCB M22 X 55 0.478 22 11 44 22/ S10T HEA
EHCA 22 44
HEAiEt 11 22
U~y N4 L 22 K X 2 f&pr = 44 K
L ESin kS
27 L2 GUSS 0.075 X ( 0.305 + 0.030)X 4 X = 0.201 m2
I " 0.075 X ( 0.300 + 0.060) X 2 X 2 = 0.108 m2
AHF 0. 309 m2
2 ET 0.618 m2
@ ST LA T
#& (mm) (fEFFY729)
$26.5 22 fHT X 2 EEr = 44 T
& REEFRHEER (2R X R T)
y=1.THY B%FF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
I o 0.075 X 0.002 X 0.300 X 1700 X 2 = 0. 153 kg
AEF 0.464 kg
2 ET 0.928 kg
L SR AT
Fee BBy GUSS 0.075 X ( 0.305 + 0.030)X 4 X = 0.201 m2
I " 0.075 X ( 0.300 + 0.060) X 2 X = 0.108 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AEF 0.42 m2
2 ET 0. 840 m2
& Lk
GUSS  0.320 X 0.820 X = 0. 525 m2
PERRES 0.305 X 0.075 X X 2 X 2 = -0. 183 m2
o 0.075 X 0.300 X X 2 = -0. 090 m2
AE 0. 252 m2
2 ET 0. 504 m2



2.7 PR KHERERA
CRHMERERMA B #E (D) 1 f&pT
e 1 HAE & W | B 1 f&pr
@ SRR (LTS 72 0) s o G TS mman | HE A
1 - PL 320 X 9 680 70.7] 15.4 1 15 15 SS400 /)
HEAit 15 15
B =N AT
&L N R (Y7 D) o | %g"jﬁ Rk | HE | M
18 - TCB M22 X 55 0.478 18 9 18 9 SI10T| HEA
EHCA 18 18
HEAiEt 9 9
&~y ML 18 A X 1 @& = 18 A&
& S5 HIFEE
27 L2 GUSS 0.075 X ( 0.230 + 0.030) X 4 X 2 = 0. 156 m2
" I 0.075 X ( 0.300 + 0.060) X 2 X = 0.108 m2
&3 0.264 m2
1 f&5pr 0. 264 m2
@ ST LA T
#& (mm) (fEFFY729)
$26.5 18 T X 1 fpr = 18 T
& REFEERS (R X TGS T7)
y=1.THY BEFF 0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
" no0.075 X 0.002 X 0.300 X 1700 X 2 = 0.153 kg
&3 0. 388 kg
1 f&5pr 0. 388 kg
L SR AT
Fee BBy GUSS 0.075 X ( 0.230 + 0.030) X X = 0. 156 m2
" I 0.075 X ( 0.300 + 0.060) X 2 X 2 = 0.108 m2
N TBC(M22)  5.06 / 1000 X 18 = 0.091 m2
&3 0. 355 m2
1 f5pr 0. 355 m2
& Lk
GUSS 0.320 X 0.680 X 2 = 0. 435 m2
PERRIE 0.230 X 0.075 X 2 X X 2 = -0. 138 m2
no0.075 X 0.300 X 2 X 2 = -0. 090 m2
&3 0.207 m2
1 f5pr 0.207 m2



2 . 8. X ERES

RHEUE 72 » R

CRHERE T 5564 58 QD) 2 f&ip
@ SH R (1S 7= 0 ) & | HUEE |, KA W B
(mm) | (kg/m) | (kg/fH) (kg) = B
1 - PL 318 X 9 X 732 70.7 16.5 1 17 SM400AT /s
1 - PL 160 X 9 X 732 70.7 8.28 1 SM400A /s
BHEAR 25
Sy Ty sam— wosk |, | HR 2 P
&RV N EE (IS4 7-0) /) &% (ke) % iz ME MR
14 - TCB M22 X 55 0.478 14 28 S10T| HEA
14 - TCB M22 X 65 0. 508 14 28 S10T HB#EA
EBCA 7 28 56
BHEAR 14
® LT RV MESRL 12 K X = 24 K
L ESCin kS
2ffi/r L2 FLG  0.160 X ( 0.732 + 0.060) X 2 0. 253 m2
I WA (0 0.305 + 0.030)X 0.075 X 2 X 2 0.101 m2
" WA (0 0.230 + 0.030) X 0.075 X 2 X 0.078 m2
&3 0.432 m2
2 AT 0. 864 m2
& ST LB T
#& (mm) (fEFFY729)
$26.5 28 fH AT X = 56 f& T
& REEFRHEER (2R X R T)
y=1.7TAHY FLG 0.160 X 0.002 X 0.732 X 1700 X 0. 398 kg
I WA 0.075 X 0.002 X 0.305 X 1700 X 0. 156 kg
I WA 0.075 X 0.002 X 0.230 X 1700 X 0.117 kg
&3 0.671 ke
2 AT 1. 342 kg
L EIRRR S
T bgy FLG 0.160 X ( 0.732 + 0.060) X 2 0. 253 m2
N TBC(M22)  5.06 / 1000 X 28 0. 142 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X 0.101 m2
" WA (0 0.230 + 0.030) X 0.075 X 2 X 2 0.078 m2
&3 0.574 m2
2 AT 1. 148 m2
& TRk
GUSS 0.318 X 0.732 X 2 0. 466 m2
FEERES 0.305 X 0.075 X 2 X -0. 092 m2
no0.230 X 0.075 X 2 X -0. 069 m2
&3 0. 305 m2
2 AT 0.610 m2




2. 9. X GERES

RHEUE 72 » R

CRHERE T 5544 58©@) 2 &P
o PR = BN B & . | BB 2 &

@ SR (17472 0 ) o o o T Gn | mmn | ME A
1 - PL 427 X 9 829 70.7 25.0 1 25 50 SM400A] /]y
1 - PL 160 X 9 X 829 70.7 9.38 1 9 19 SM400A /s

BHEAR 34 69
B =N AT

&L N R (Y7 D) o | ég“ HRGe) | ME H

18 - TCB M22 X 55 0.478 18 36 18 SI10T| HEA

16 - TCB M22 X 65 0. 508 16 8 32 16 SI10T HEA

EEA 34 68
HEAF 17 34
® NV TRV NS L 12 K X 2 fpT = 24 A
L ESin kS
2ffi/r L2 FLG  0.160 X ( 0.829 + 0.060) X 2 = 0.284 m2
" WA (0 0.380 + 0.030) X 0.075 X 2 X = 0.123 m2
I WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
&3 0. 508 m2
2 AT 1.016 m2
& ST LB T
#& (mm) (fEFFY729)
$26.5 36 & AT X 2 T = 72 T
& REEFREER (2R X RN T)
y=1.7TAHY FLG 0.160 X 0.002 X 0.829 X 1700 X 1 = 0.451 kg
I WAF 0.075 X 0.002 X 0.380 X 1700 X 1 % 2 = 0.194 kg
I WAF 0.075 X 0.002 X 0.305 X 1700 X 1 % 2 = 0. 156 kg
&3 0. 801 kg
2 AT 1. 602 kg
L EIR RS
T kg FLG 0.160 X (1 0.829 + 0.060) X 2 = 0.284 m2
N TBC(M22)  5.06 / 1000 X 36 = 0. 182 m2
I WA (0 0.380 + 0.030)X 0.075 X 2 X 2 = 0.123 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
&3 0.69 m2
2 AT 1. 380 m2
& TRk
GUSS  0.427 X 0.829 X 2 = 0. 708 m2
PERRIE 0.380 X 0.075 X 2 X 2 = -0. 114 m2
FEERES 0.305 X 0.075 X 2 X 2 = -0. 092 m2
&3 0.502 m2
2 AT 1. 004 m2



2. 10. XA

SHERE A & v N

CRHEURE HE B4 50) 1 & T
- PES— & B & . | BE 1 T
@ S SCE (LB 72 D) s o G TS mman | HE A
1 - PL 317 X 10 X 1551 78.5 38.6 1 39 39 SS400] /I
1 - PL 180 X 10 X 1551 78.5 21.9 1 22 22 SS400) /I
BHEAR 61 61
OB R (TS 7 ) HIER | gy | EURE BB mewe | HE | HA
B (kg/{A) (kg) % - =
42 - TCB M22 X 55 0.478 42 20 42 20/ S10T HEA
8 - TCB M22 X 60 0. 493 8 4 8 4 S10T HEA
16 - TCB M22 X 70 0.523 16 8 16 8 S10T fEA
EBCA 7 66 66
HEAiEt 32 32
& 7 A G W R
L = 1.551 = 1.551 m
SERA G 1.551 m
1 f&5pr = 1.551 m
TR
L = 1.551 = 1.551 m
SERA G 1.551 m
1 f&5pr = 1.551 m
& 5 H R
2ffi/r L2 FLG  0.180 X ( 1.551 + 0.060) X 2 = 0. 58 m2
" WA (0 0.380 + 0.030) X 0.090 X 2 X = 0. 148 m2
" WA (0 0.230 + 0.030) X 0.090 X 2 X = 0. 094 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
et 0.923 m2
1 &P 0.923 m2
& ST LA T
#& (mm) (fEFFY729)
$26.5 66 {5 AT X 1 fBpr = 66 %77
& REEFRHEER (2R X R T)
y=1.7TAHY FLG 0.180 X 0.002 X 1.551 X 1700 X 1 = 0.949 kg
) WAS 0.090 X 0.002 X 0.380 X 1700 X 2 = 0.233 kg
) WAS 0.090 X 0.002 X 0.230 X 1700 X 2 = 0.141 kg
) WAS 0.075 X 0.002 X 0.305 X 1700 X 2 = 0. 156 kg
At 1.479 kg
1 f&5pr 1.479 kg
L SR AT
T bgy FLG 0.180 X ( 1.551 + 0.060) X 2 = 0. 58 m2
N TBC(M22)  5.06 / 1000 X 66 = 0. 334 m2
" WA (0 0.380 + 0.030) X 0.090 X 2 X = 0. 148 m2
" WA (0 0.230 + 0.030) X 0.090 X 2 X = 0. 094 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
HEt 1. 257 m2
1 &P 1. 257 m2



L QB A75E S

GUSS 0.317 X 1.551 X 2 0. 983 m2
FEERES 0.380 X 0.090 X 2 -0. 137 m2
I 0.230 X 0.090 X 2 -0. 083 m2

I 0.305 X 0.075 X 2 -0. 092 m2
&3 0.671 m2

1 f&5pr 0.671 m2



2. 11. XS SHERE Eir
GeHERE Eight & CTHiiE  4-9, 4-28) 2 &P
. O = SR A v | BB 2 fAFT
& G (LI 7 D) o o o T Gn | mmn | ME A
2 - L 75 X 75 X 9 700 9.96 7 2 14 28] SS4001 /)
HEAit 14 28
BT B JiE=N ]
&L N R (Y7 D) o | ég"jﬁ Rk | HE | M
7 - TCB M20 X 60 0. 367 14 6 S10T| HEA
EHCA 14
HEAit 3 6
& S5
2ffr Ly FLG  0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
I WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
- 0.270 m2
2 AT 0. 540 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 7 AT X 2 fpT = 14 5T
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB 0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
ok 0. 738 kg
2 AT 1.476 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
N TBC(M20)  4.02 / 1000 X 7 = 0. 028 m2
& 0. 298 m2
2 AT 0. 596 m2



2 . 12. X} SHERE Eir
CeHERE _Eoibs & CTRlifE 4-19) 1 f&pT
. O = SR A v | BB 1 & HT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 700 9.96 7 2 14 14| SS400 /]
HEAit 14 14
BT B JiE=N ]
&L N R (Y7 D) o | %g"]ﬁ HRGe) | ME H
7 - TCB M20 X 60 0. 367 3 S10T| A
EHCA
HEAit 3 3
& S5
2ffr Ly FLG  0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
I WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
- 0.270 m2
1 AT 0. 270 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 7 AT X 1 f&5F7 = 7 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB 0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
ok 0. 738 kg
1 AT 0. 738 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
N TBC(M20)  4.02 / 1000 X 7 = 0. 028 m2
& 0. 298 m2
1 AT 0. 298 m2



2 . 13. XI5 KHERE T %A
CRHERE T o%b & CTHE  4-44) 1 f&pT
. O = SR A v | BB 1 & HT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 700 9.96 7 2 14 14| SS400 /]
HEAit 14 14
BT B JiE=N ]
&L N R (Y7 D) o | %g"]ﬁ HRGe) | ME H
7 - TCB M20 X 60 0. 367 3 S10T| A
EHCA
HEAit 3 3
& S5
2ffr Ly FLG  0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
I WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
- 0.270 m2
1 AT 0. 270 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 7 AT X 1 f&5F7 = 7 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB 0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
ok 0. 738 kg
1 AT 0. 738 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
N TBC(M20)  4.02 / 1000 X 7 = 0. 028 m2
& 0. 298 m2
1 AT 0. 298 m2



2 . 14. REGEAF SHEUHE T 5%k

CRHERE 5%k & THUE  4-48) 1 f&pT
S JE = BN B & . | BB 1 &pT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 1400/ 9.96/ 13.9 2 28 28 SS400] /I
HEAit 28 28
BT B JiE=N ]
&L N R (Y7 D) o | %g"]ﬁ Rk | HE | M
14 - TCB M20 X 60 0.367 14 14 5 S10T| HEA
EHCA 14 14
HEAit 5 5
& 5 H R
2ffi/r L2 FLG  0.160 X ( 1.400 + 0.030) X 1 = 0.229 m2
" WEB  ( 0.075 + 0.030 )X ( 1.400 + 0.030)X 2 = 0.3 m2
o 0.529 m2
1 f5pr 0.529 m2
& ST LA T
#& (mm) (fEFFY729)
$24.5 14 T X 1 & = 14 &7
& REEFREER (2R X R T)
y=1.7TF24 FLG 0.160 X 0.002 X 1.400 X 1700 = 0.762 kg
WEB  0.075 X 0.002 X 1.400 X 1700 X 2 = 0.714 kg
ok 1. 476 kg
1 f&5pr 1. 476 kg
L SR AT
T kg FLG 0.160 X ( 1.400 + 0.030) X 1 = 0.229 m2
WEB  ( 0.075 + 0.030 )X ( 1.400 + 0.030)x 2 = 0.3 m2
N TBC(M20)  4.02 / 1000 X 14 = 0. 056 m2
&3 0. 585 m2
1 f&5pr 0. 585 m2



2 . 15. XIS KHERE T %A
CRHEURE T 5%6 & THfifE 4-50, 51 4-54, 55) 2 &P
o JE = BN B & . | BB 2 &
& G (LI 7 D) o o o T Gn | mmn | ME A
4 - L 75 X 75 X 9 700 9.96 7 4 28 56/ SS400/ /)
BEAE 28 56
BT B JiE=N ]
L MR (LTS 7= D) :{j@ B (o ég"jﬁ Hikke) | ME | MA
14 - TCB M20 X 60 0. 367 14 28 10/ S10T| HWEA
EHCA 14 28
HEAit 5 10
& S5
2ffr Ly FLG  0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
I WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
- 0.270 m2
2 AT 0. 540 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 14 5T X 2 fpT = 28 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB 0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
A 0.738 kg
2 AT 1.476 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
N TBC(M20)  4.02 / 1000 X 14 = 0. 056 m2
A 0. 326 m2
2 AT 0. 652 m2



3.XH® SR (F)
3.LAGIES M TR 2

(FHE N7 2 T HTHRAE  1-36~1-41) 1
. HAE & . | BE 1 5T
i i & H B e
& SR B ) | e/ | e/ ) (R (ke) T8 (ke) ME | MA
1 - PL 350 X 9 3860 70.7] 272.9 1] 273 2737 SS400] /I
HEAq 273 273
. ” WATE . B 1 &
L ZIVIZIE &y o . i (k =
7 B /) (R (ke) % 7 & (kg) e MR
66 — WSB  MUTF24 X 25 0. 695 66 46 66 46/SCM440] B A
%5 &5t 66 66
HEAR 46 46
& 5 A
offi// LY WEB  ( 3.860 + 0.060 ) X 0.360 X 1 = 1. 411 m2
o 1.411 m2
1 5P 1. 411 m2
& SiHT LI T
25 (mm) (IEFT47-9)
$26.5 66 AT X 1 5 = 66 f5AT
O RGN (=R % U #E <7)
y=1.7F4 WEB 0.350 X 0.002 X 3.860 X 1700 X 1 = 4. 593 kg
o 4. 593 kg
1 5P 4. 593 kg
& LG
Fee kB WEB ( 3.860 + 0.060 ) X 0.360 X 1 = 1. 411 m2
Fe- by MUTF24  7.37 /1000 X 66 = 0. 486 m2
o 1. 897 m2
1 5P 1. 897 m2



3. 2. X ERES

T EE oMl

(EMEEEL & THRAEE  1-110, 1-116) 2 T
ok X NS & . | BB 2 AT
AR s o G TS mman | HE A
2 - L 90 X 90 X 10 3200 13.3 4.3 2 9 18 SS400 N
BE&5F 9 18
BT =X s
AT o e LR 2P mRGe) | HE T
3 - TCB M22 X 65 0. 508 3 2 [§) 41 S10T| BEA
TR e 3 5
ot 2 7
& S
o2fE4 L2 WEB ( 0.090 + 0.030 )X ( 0.320 + 0.060) X 2 = 0.091 m2
FLG 0.180 X ( 0.320 + 0.060) X 1 = 0. 068 m2
& & 0. 159 m2
2 T 0.318 m2
@ AL T
25 (mm) (LfEFT % 7=0)
$26.5 3 T X 2T = 6 T
@ RREIRREAS (o A% M <)
v=1.T/0Y4 WEB 0.090 X 0.002 x 0.320 X 1700 X 2 = 0.196 kg
FLG 0.180 X 0.002 x 0.320 X 1700 X 1 = 0.196 kg
=T 0. 392 kg
2 fHET 0. 784 kg
SR
T kmy WEB ( 0.090 + 0.030 )x( 0.320 + 0.060) X 2 = 0.091 m2
FLG 0.180 X ( 0.320 + 0.060 ) = 0. 068 m2
N TBC(M22)  5.06 / 1000 X 3 = 0.015 m2
& & 0.174 m2
2 T 0. 348 m2



3. 3. A ERES

T EE oMl

(I HCHIE 1-120) |
ok X NS & . | BB 1 &FT
AR s o G TS mman | HE A
2 - L 90 X 90 X 10 480 13.3 6.4 2 13 131 SS400 N
HEAH 13 13
BT =X s
AT o e LR P mRGe) | HE T
5 - TCB M22 X 65 0. 508 5 3 5 3 SI10T| EEA
TEoT 5 5
ot 3 3
e
o2fE4 L2 WEB ( 0.090 + 0.030 )X ( 0.480 + 0.060) X 2 = 0.130 m2
FLG 0.180 X ( 0.480 + 0.060) X 1 = 0. 097 m2
& & 0.227 m2
1 & 0.227 m2
@ AL T
25 (mm) (LfEFT % 7=0)
$26.5 5 T X 1 & = 5
@ FEERR (= A% S Bt <)
v=1.T/0Y4 WEB 0.090 X 0.002 X 0.480 X 1700 X 2 = 0. 294 kg
FLG 0.180 X 0.002 X 0.480 X 1700 X 1 = 0.294 kg
oz 0. 588 kg
T 0. 588 kg
SR
T kmy WEB ( 0.090 + 0.030 )x( 0.480 + 0.060) X 2 = 0.130 m2
FLG 0.180 X ( 0.480 + 0.060 ) = 0. 097 m2
N TBC(M22)  5.06 / 1000 X 5 = 0. 025 m2
& & 0. 252 m2
1 & 0. 252 m2



3.4 BERES TR A

FEHNRZ 7 28 & TlREEE 1-72) 1 f&p
. NS & w | BEE 1 5T
41 E=R Eé HE )iy
L STV Y ) | e/ | e/ ) (R (ke) T8 (ke) MeE | MhA
2 - L 125 X 75 X 137 400 19.1] 7.6 2 15 15 SS4007 /s
HEAH 15 15
. . BT R w | BEE 1 T
VI 6 % o " & (k =
&RV MR /) (R (ke) % 2 & (kg) ME | MA
4 - TCB M20 X 60 0. 367 4 1 4 1 SI0T HEA
%5 & 5t 4 4
HEAH 1 1
& 5 R
ofir LY WEB  ( 0.075 + 0.030 )X ( 0.400 + 0.060) X 2 = 0.097 m2
FLG  0.180 X ( 0.400 + 0.060) X 1 = 0. 083 m2
o 0. 180 m2
1 5P 0. 180 m2
& ST LA T
£ (mm) (LERTH72Y)
$24.5 4 f& T X 1 f&5Fr = 4 %57

& REERFER (=A% R8T )

y=1.7TfH% WEB 0.075 X 0.002 X 0.400 X 1700 X 2 = 0.204 kg
FLG 0.180 X 0.002 X 0.400 X 1700 X 1 X 1 = 0. 245 kg
At 0. 449 kg
1 0. 449 kg

R
Fedek®y  WEB (0 0.075 + 0.030 )X ( 0.400 + 0.060) X 2 = 0.097 m2
FLG  0.180 X ( 0.400 + 0.060) X 1 = 0. 083 m2
N TBC(M20)  4.02 / 1000 X 4 = 0.016 m2
At 0. 196 m2
1 0. 196 m2



4 . FHE SR (HB)
T TR AR

4.1 RS

(Tt + 7 A T HTHRAE 2-15,2-16) 2 P
. HAE & . | BE 2 AT
i i & H B e
&GRSR (mm) | (kg/m) | (ke/fH) flaze (kg) H & (kg) MR M
1 - PL 350 X 9 5900 70.7] 41.7 1 42 84 SS400[ /I
HEAq 42 84
. ” WATE . B 2 &
L ZIVIZIE &y o . B (k =
7 B /) (R (ke) % 7 & (kg) e MR
18 - WSB  MUTF24 X 25 0. 695 18 13 36 26/SCM440] & A
%A=t 18 36
HEAR 13 26
& 5 A
offi// L WEB  ( 0.590 + 0.060 ) X 0.360 X 1 = 0. 234 m2
o 0. 234 m2
2 T 0. 468 m2
@ SFHTFLEA T
£% (mm) (&4 7-0)
$26.5 18 T X 2 ®Er = 36 AT
@ REEFHEER (R & RGN T)
y=1.7F4 WEB 0.350 X 0.002 X 0.590 X 1700 X 1 = 0. 702 kg
o 0.702 kg
2 T 1. 404 kg
& LG
Fedebmo WEB ( 0.590 + 0.060 ) X 0.360 X 1 = 0. 234 m2
Fe- by MUTF24  7.37 /1000 X 18 = 0.133 m2
o 0. 367 m2
2 T 0. 734 m2



4. 2. REGEAS

THETREAS A

(EMEREEL & THAEE 2-27,2-63) 1 f&FT
ok X NS & . | BB 1 &FT
AR s o G TS mman | HE A
2 - L 90 X 90 X 10 4100 13.3 5.5 2 11 11 SS400 N
HEAH 11 11
BT =X s
AT o e LR P mRGe) | HE T
4 - TCB M22 X 65 0. 508 4 2 4 2 SI10T| EEA
TR e 7 1
ERA A 2 2
& S
o2fE4 L2 WEB ( 0.090 + 0.030 )x( 0.410 + 0.060) X 2 = 0.113 m2
FLG 0.180 X ( 0.410 + 0.060) X 1 = 0. 085 m2
& & 0. 198 m2
1 & 0. 198 m2
@ AL T
25 (mm) (LfEFT % 7=0)
$26.5 4 T X 1 & = 4 &
@ RREIRREAS (o A% M <)
v=1.T/0Y4 WEB 0.090 X 0.002 x 0.410 X 1700 X 2 = 0. 251 kg
FLG 0.180 X 0.002 x 0.410 X 1700 X 1 = 0. 251 kg
=T 0.502 kg
T 0. 502 kg
SR
T kmy WEB ( 0.090 + 0.030 )x( 0.410 + 0.060) X 2 = 0.113 m2
FLG 0.180 X ( 0.410 + 0.060 ) = 0. 085 m2
N TBC(M22)  5.06 / 1000 X 4 = 0.02 m2
& & 0.218 m2
1 & 0.218 m2



4. 3. REGEAL

THETREAS A

(EMEREEL & THAEE  2-30,2-64) 1 f&FT
ok X NS & . | BB 1 &FT
AR s o G TS mman | HE A
2 - L 90 X 90 X 10 2801 13.3 3.7 2 71 SS400 N
HEAH 7
BT =X s
AT o e LR P mRGe) | HE T
3 - TCB M22 X 65 0. 508 3 2 3 2 SI10T| EEA
TR e 3 3
ot 2 2
& S
o2fE4 L2 WEB (0.090 + 0.030 )x( 0.280 + 0.060) X% 2 = 0. 082 m2
FLG 0.180 X ( 0.280 + 0.060) X 1 = 0.061 m2
& & 0.143 m2
1 & 0. 143 m2
@ AL T
25 (mm) (LfEFT % 7=0)
$26.5 3 T X 1 & = 3 @
@ RREIRREAS (o A% M <)
v=1.T/0Y4 WEB 0.090 X 0.002 x 0.280 X 1700 X 2 = 0.171 kg
FLG 0.180 X 0.002 x 0.280 X 1700 X 1 = 0.171 kg
=T 0. 342 kg
T 0. 342 kg
SR
T kmy WEB ( 0.090 + 0.030 )x( 0.280 + 0.060) X% 2 = 0. 082 m2
FLG 0.180 X ( 0.280 + 0.060 ) = 0.061 m2
N TBC(M22)  5.06 / 1000 X 3 = 0.015 m2
& & 0. 158 m2
1 & 0. 158 m2



4 .4 KGR TR AR

FEHENR 7 7 o o TS 2-4T7) 1 f&p
. NS & w | BEE 1 5T
41 E=R Eé HE )iy
L STV Y ) | e/ | e/ ) (R (ke) T8 (ke) MeE | MhA
2 - L 125 X 75 X 137 400 19.1] 7.6 2 15 15 SS4007 /s
HEAH 15 15
. . BT R w | BEE 1 T
VI 6 % o " & (k =
&RV MR /) (R (ke) % 2 & (kg) ME | MA
4 - TCB M20 X 60 0. 367 4 1 4 1 SI0T HEA
%5 & 5t 4 4
HEAH 1 1
& 5 R
ofir LY WEB  ( 0.075 + 0.030 )X ( 0.400 + 0.060) X 2 = 0.097 m2
FLG  0.180 X ( 0.400 + 0.060) X 1 = 0. 083 m2
o 0. 180 m2
1 5P 0. 180 m2
& ST LA T
£ (mm) (LERTH72Y)
$24.5 4 f& T X 1 f&5Fr = 4 %57

& REERFER (=A% R8T )

y=1.7TfH% WEB 0.075 X 0.002 X 0.400 X 1700 X 2 = 0.204 kg
FLG 0.180 X 0.002 X 0.400 X 1700 X 1 X 1 = 0. 245 kg
At 0. 449 kg
1 0. 449 kg

R
Fedek®y  WEB (0 0.075 + 0.030 )X ( 0.400 + 0.060) X 2 = 0.097 m2
FLG  0.180 X ( 0.400 + 0.060) X 1 = 0. 083 m2
N TBC(M20)  4.02 / 1000 X 4 = 0.016 m2
At 0. 196 m2
1 0. 196 m2



5 . EHT - KitAT - BEAT
5.1 HREM ek

(F25>vY 5-66~5-68) 1 &
, - o RX HABESE BE 1 &
i =t — L
¢ EE (1FHmAHEY) mm | e/m | ke/B) [k (ke) B8 (ke) ME MA
2 - L 90 x 90 x 100 1900 13.3] 25.3 2 51 51/ SS400 /]
HBE/ET 51 51
. = — HOHE B8 1 ST -
7~ = — | =
ORI = (IERARY) <&/ ) [k (ke) B B= (kg) ME MA
17 - TCB M22 x 70 0.523 17 9 17 9 S10T| EEA
E#HEE 17 17
HBE/ET 9 9
& S HhEfE
24~ LY FLG 0.180 x ( 1.900 + 0.060) x 1 x 1 = 0.353 m2
" WEB ( 0.090 + 0.030 )x( 1.900 + 0.060)x 2 x 1 = 0.47 m2
&t 0.823 m2
1 &5 0. 823 m2
S MTFLEAT
2 (mm) (fEFFY729)
$26.5 17 57 X 1 & = 17 &
& RIEFEHM (TR #g/T)
y=1.748% FLG 0.180 x 0.002 x 1.900 x 1700 x 1 = 1.163 kg
WEB 0.090 x 0.004 x 1.900 x 1700 x 2 = 2.326 kg
&5t 3.489 kg
1 &5 3. 489 m2
O RIGRE
F-d-rz2zy WEB  ( 0.090 + 0.090 + 0.030 )x( 1.900 + 0.060)x 2 = 0.823 m2
" TBCM22)  5.06 / 1000 x 17 = 0.086 m2
&t 0.909 m2

1 f&FT 0. 909 m2



1. xHEHE (KA

1.1 x5kt KHERERA
CRHMEAERA @8R HA) 1A
S w & SR A . | BB 1A
® SRR (1572 1 ) o o o T Gn | mmee | ME | HA
1 - L 75 X 75 X 9 1310 9.96 13 1 13 137 SS4007 /1
1 - L 75 X 75 X 9 1460 9.96 14.5 1 15 15 SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 2 85400 /)
HEAit 30 30
B =R
oL MR (A D) o %;ﬁ HRGke) | HE MK
8 - TCB M22 X 60 0. 493 8 8 4 SI10T HEA
14 - TCB M22 X 55 0.478 14 7 14 7 S10T HBEA
fEHA 22 22
HEA 11 11
U~y N4 L 22 K X 1A = 22 K
& 5 H R
2f/7 L2 GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
A 0. 362 m2
1 fH5pr 0. 362 m2
@ ST LA T
#& (mm) (IA%7-1)
$26.5 16 %77 X N = 16 T
& REEFREER (2R X RN T)
y=1.THY BEFF  0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
NTE 0.311 kg
1 A 0.311 kg
L SR AT
Fee ko GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
I o 0.155 X 0.200 X 2 X 1 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AE 0. 535 m2
1 A 0. 535 m2
& Lk
WS 9.960 X 1.310 X 0.0292 - 0.075 X 0.305 X 2 X = 0. 289 m2
n9.960 X 1.460 X 0.0292 - 0.075 X 0.305 X 2 X = 0.333 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
AE 0. 56 m2
1 A 0. 560 m2



1. 2. Xt G b KHERERA
CRHMEAERA @B R HA) 1A
S w = BN B & v | BB 1A
& SRR (IR 72 0) s o G TS mma | HE A
1 - L 75 X 75 X 9 1700/ 9.96/ 16.9 1 17 17 SS4007 /1
1 - L 75 X 75 X 9 1625 9.96 16.2 1 16 16 SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 2 85400 /)
HEAit 35 35
B BT =R
oL MR (A D) o %;ﬁ HRGke | HE MK
22 - TCB M22 X 55 0.478 22 11 22 33] S10T HEA
EHE R 22 22
HEAF 11 33
&~y N4 L 22 K X 1K = 66 A
L ESin kS
2f/7 L2 GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
AEF 0. 362 m2
1 f5pr 0. 362 m2
& ST LA T
#& (mm) (A4 721)
$26.5 16 T X N = 16 T
& REEFRHEER (2R X R T)
y=1L.THY BEFF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
UNTE 0.311 kg
1 A 0.311 kg
L SR AT
Fee ko GUSS (0 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
" no0.155 X 0.200 X 2 X 1 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AEF 0. 535 m2
1 A 0.535 m2
& Lk
WA 9.960 X 1.700 X 0.0292 - 0.075 X 0.305 X 2 X 2 = 0.403 m2
”o9.960 X 1.625 X 0.0292 - 0.075 X 0.305 X 2 X = 0. 381 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
AE 0.722 m2
1 A 0.722 m2



1. 3. Xt G b KHERERA
CRHERERIBF @ = B RERH) 1A
o w HAE & v | BE 1 A&

SRR (LA %72 0) s o G TS mma | HE A
2 - L 90 X 75 X 9 3545 11.0] 39.0 78 78 SS400] /I
2 - PL 155 X 9 200 70.7| 2.19 4 4 SS400 /)

HEAit 82 82
B =N
oL MR (A D) o %;ﬁ HRGke | HE MK
34 - TCB M22 X 55 0.478 34 16 34 16/ S10T| HWEA
fEHA 34 34
HEAit 16 16
&~y ML 34 K X 1A = 34 K
& S5 HFHEE
2fi/r 1> GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030) X 4 2 = 0. 362 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 2 = 0.162 m2
&3 0.524 m2
1 N 0. 524 m2
& ST LA T
#& (mm) (A4 721)
$26.5 22 AT X 1A = 22 AT
& REFEERS (R SRS T7)
y=1L.THY BEFF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
" I 0.075 X 0.002 X 0.300 x 1700 X 2 = 0.153 kg
UNETE 0. 464 kg
1 N 0. 464 kg
L SR AT
T kwo GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030) X 4 2 = 0. 362 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 X 2 = 0.162 m2
n I 0.155 X 0.200 X 2 X 2 = 0.124 m2
N TBC(M22)  5.06 / 1000 X 34 = 0.172 m2
&3 0.82 m2
1 N 0. 820 m2
& 55k
WA 11,00 X 3.545 X 0.0291 X 2 - 0.075 X 0.305 X 4 X 2 = 2.087 m2
PEf 0.075 X 2 X 0.300 X 1 X 2 = -0. 090 m2
I 0.155 X 0.200 X 2 X 2 = -0.124 m2
&3 1.873 m2
1 N 1.873 m2



1. 4. RFGEEAF

SHERE A & v N

CRHEURE HE B4 50) 1 & T
- PES— & B & . | BE 1 T
@ S SCE (LB 72 D) s o G TS mman | HE A
1 - PL 317 X 10 X 1551 78.5 38.6 1 39 39 SS400] /I
1 - PL 180 X 10 X 1551 78.5 21.9 1 22 22 SS400 /I
BHEAR 61 61
OB R (TS 7 ) HIER | gy | EURE BB mewe | HE | HA
B (kg/{A) (kg) % - =
42 - TCB M22 X 55 0.478 42 20 42 20/ S10T HEA
8 - TCB M22 X 60 0. 493 8 4 8 4 S10T HEA
16 - TCB M22 X 70 0.523 16 8 16 8 S10T fEA
EHA 66 66
HEAiEt 32 32
& 7 A G W R
L = 1.551 = 1.551 m
SERA G 1.551 m
1 f&5pr = 1.551 m
TR
L = 1.551 = 1.551 m
SERA G 1.551 m
1 f&5pr = 1.551 m
& 5 H R
2ffi/r L2 FLG  0.180 X ( 1.551 + 0.060) X 2 = 0. 58 m2
" WA (0 0.380 + 0.030) X 0.090 X 2 X = 0. 148 m2
" WA (0 0.230 + 0.030) X 0.090 X 2 X = 0. 094 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
et 0.923 m2
1 &P 0.923 m2
& ST LA T
& (mm) (LfEFT % 7=0)
$26.5 66 {5 AT X 1 fBpr = 66 %77
& REEFRHEER (2R X R T)
y=1.7TAHY FLG 0.180 X 0.002 X 1.551 X 1700 X 1 = 0.949 kg
) WAS 0.090 X 0.002 X 0.380 X 1700 X 2 = 0.233 kg
) WAS 0.090 X 0.002 X 0.230 X 1700 X 2 = 0.141 kg
) WAS 0.075 X 0.002 X 0.305 X 1700 X 2 = 0. 156 kg
At 1.479 kg
1 f&5pr 1.479 kg
L SR AT
T bgy FLG 0.180 X ( 1.551 + 0.060) X 2 = 0. 58 m2
N TBC(M22)  5.06 / 1000 X 66 = 0. 334 m2
" WA (0 0.380 + 0.030) X 0.090 X 2 X = 0. 148 m2
" WA (0 0.230 + 0.030) X 0.090 X 2 X = 0. 094 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
HEt 1. 257 m2
1 &P 1. 257 m2



L QB A75E S

GUSS 0.317 X 1.551 X 2 0. 983 m2
FEERES 0.380 X 0.090 X 2 -0. 137 m2
I 0.230 X 0.090 X 2 -0. 083 m2

I 0.305 X 0.075 X 2 -0. 092 m2
&3 0.671 m2

1 f&5pr 0.671 m2



1. 5. X REH A

CRHEAE Foght & OBAWES,  FAERHERE D) 1 f&p
g R Fx  HE{IHE | B 1 & HT
4 =0 = =
@A S E (15T S 720) m) | Geg/m) | (ke/ 1D (R (kg) BB (kg) ME | MhA
1 - PL 250 X 9 540 70.7 9.54 1 10 10/ SS400| /)
HEAR 10 10
. . _ T . | EE 1 f&pr
AL R (T4 7= 7 e A (k =
L % MgE (ERS7ZY) ke/ 1) 8%k (kg) (% B (kg) e MR
5 - TCB M22 X 55 0.478 5 2 5 2] S10T HEA
8 - TCB M22 X 55 0.478 8 4 8 4/ S10T HEA
%5 &5t 13 13
HEAR 6 6
U~y MEAL 13 K X 1 f&pr = 13 K
& E TR
2f /7L FLG  ( 0.080 + 0.030 )X ( 0.540 + 0.060)Xx 1 X 2 = 0. 132 m2
n 5k 0.190 X ( 0.155 + 0.030) X 2 X 2 = 0.141 m2
s 0.273 m2
1 EFT 0.273 m2
& ST FLEA T
& (mm) (&4 7-9)
¢ 26.5 13 AT X 1 EEr = 13 4R

& REERFER (=A% R 87 )

y=1.7#H24 FLG 0.080 X 0.002 X 0.540 X 1700 X 1 = 0. 147 kg
Il 5k 0.190 X 0.002 X 0.155 x 1700 X 2 = 0. 200 kg
UNETE 0. 347 kg
1 &P 0. 347 kg
L EIRRR S
Fed-kwo FLG (0 0.080 + 0.030 )X ( 0.540 + 0.060)X 1 X 2 = 0.132 m2
Il 5k 0.190 X ( 0.155 + 0.030) X 2 X 2 = 0.141 m2
N TBC(M22)  5.06 / 1000 X 13 = 0. 066 m2
&3 0.339 m2
1 &P 0. 339 m2
& 55k
GUSS ( 0.250 - 0.080 )X 0.540 X 2 X 1 = 0. 184 m2
PERRIS 0.190 X 0.155 X 2 X 2 = -0. 118 m2
&3 0. 066 m2

1 f&FT 0. 066 m2



1. 6. XFGEE b TR
(EHE Foht & OEAWES, TR Figs ) 2 &P
o R XA =g v | BE 2 &P

@ SRR (LTS 72 0) s o G TS mman | HE A
1 - PL 375 X 9 466 70.7 395.3 1T 39 791] SS400] /I
1 - PL 190 X 9 155 70.7 2.08 1 2 4 SS400 /)
1 - PL 160 X 9 230 70.7 2.6 1 3 5 SS400 /)

HEAG 400 800
BT Jol=R i)

&L N R (Y7 D) o | ﬂ;g’jﬁ Wik | HE K
5 - WSB  MUTF24 X 20 0.678 5 3 10 6/SCM440] /s
4 - TCB M22 X 65 0. 508 4 2 8 4 S10T WA
6 - TCB M22 X 80 0. 553 6 3 12 6 SI10T A

fEHA 15 30
HEAF 8 16
U~y N4 L 10 & X 2 f&pr = 20 K
& R
offi/ L BOTT ( 0.100 + 0.030 )X ( 0.466 + 0.060)x 1 X = 0. 068 m2
I WA 0.190 X ( 0.155 + 0.030) X 1 X 2 = 0. 070 m2
I sgsre 0, 160 X (1 0.230 +  0.030) X 1 X 2 = 0. 083 m2
&5 0.221 m2
2 T 0. 442 m2
& ST LB T
& (mm) (LfEFT % 7=0)
¢ 26.5 15 & X 2 T = 30 47T
& REEFRHEER (=A% VMR <7 )
y=1.7T/#% BOTT 0.100 X 0.002 X 0.466 X 1700 X 1 = 0. 158 kg
I A 0.190 X 0.002 X 0.155 X 1700 X 1 = 0. 100 kg
I sEmre 0,160 X 0.002 X 0.230 X 1700 X 1 = 0. 125 kg
UNETE 0. 383 kg
2 T 0. 766 kg
L SR AT
Fede ko BOTT  ( 0.100 + 0.030 )X ( 0.466 + 0.060)x 1 X = 0. 068 m2
I WA 0.190 X ( 0.155 + 0.030) X 1 X 2 = 0. 070 m2
I sgsre 0, 160 X (0.230 +  0.030) X 1 X 2 = 0. 083 m2
N TCBM22)  5.06 / 1000 X 10 = 0.051 m2
I WSB 7.37 / 1000 X 5 = 0. 037 m2
A5 0. 309 m2
2 T 0.618 m2
& T30k
GUSS ( 0.375 - 0.100 )X 0.466 X 2 X 1 = 0. 256 m2
PEBREL 0.190 X 0.1556 X 1 X 2 = -0. 059 m2
sEmEG 0,160 X 0.230 X 1 X 2 = -0. 074 m2
A 0. 123 m2
2 T 0. 246 m2



1. 7. PG SHERE Eir
CeHERE _Eodbs & THUE 3-3) 1 f&pT
. O = SR A v | BB 1 & HT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 700 9.96 7 2 14 14| SS400 /]
HEAit 14 14
BT B JiE=N ]
&L N R (Y7 D) o | %g"jﬁ HRGe) | ME H
7 - TCB M20 X 60 0. 367 3 S10T| A
fEHA
HEAit 3 3
& S5
2ffr Ly FLG  0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
I WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
- 0.270 m2
1 AT 0. 270 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 7 AT X 1 f&5F7 = 7 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.700 X 1700 = 0.381 kg
WEB 0.075 X 0.002 X 0.700 X 1700 X 2 = 0.357 kg
ok 0. 738 kg
1 AT 0. 738 kg
L EIR RS
Fedie ko FLG 0.160 X ( 0.700 + 0.030) X 1 = 0.117 m2
WEB  ( 0.075 + 0.030 )X ( 0.700 + 0.030)x 2 = 0. 153 m2
N TBC(M20)  4.02 / 1000 X 7 = 0. 028 m2
& 0. 298 m2
1 AT 0. 298 m2



1. 8. X SHERE oAbt
CeHERE _Eoibs & TR 3-16) 1 & T
S JE = BN B & . | BB 1 &pT
SR AEPT=Y) ﬁm) (kg/m) | (kg/f) ez (kg) 'H & (kg) WHE | #A
2 - L 75 X 75 X 9 865 9.96] 8.6 2 17 177 SS4007 /)
HEAit 17 17
BT B JiE=N ]
&L N R (Y7 D) o | %g"jﬁ HRGe) | ME H
8 - TCB M20 X 60 0. 367 3 S10T| A
fEHA
BHEAR 3 3
& S5
2ffir Ly FLG  0.160 X ( 0.865 + 0.030) X 1 = 0.143 m2
I WEB  ( 0.075 + 0.030 )X ( 0.85 + 0.030)%x 2 = 0. 188 m2
&% 0.331 m2
1 AT 0.331 m2
& ST LB T
#& (mm) (fEFFY729)
$24.5 8 AT X 1 f&5F7 = 8 AT
& REFEERS (R TGS T)
y=1.7HY FLG 0.160 X 0.002 X 0.865 X 1700 = 0.471 kg
WEB 0.075 X 0.002 X 0.865 X 1700 X 2 = 0.441 kg
ok 0.912 kg
1 AT 0.912 kg
L EIR RS
Fedi- ko FLG 0.160 X ( 0.865 + 0.030) X 1 X 3 = 0. 430 m2
WEB  ( 0.075 + 0.030 )X ( 0.865 + 0.030)X 2 X 3 = 0. 564 m2
N TBC(M20)  4.02 / 1000 X 8 = 0.032 m2
& 1. 026 m2
1 AT 1. 026 m2



1. 9. X EH SHEUHE T 5%k

CRHERE 5%k & TG 3-19) 1 f&pT
S JE = BN B & . | BB 1 &pT
& G (LI 7 D) o o o T Gn | mmn | ME | HA
2 - L 75 X 75 X 9 9200 9.96 9.2 2 18 18 SS4007 /1
HEAit 18 18
BT B JiE=N ]
&L N R (Y7 D) o | %g"jﬁ Rk | HE | M
9 - TCB M20 X 60 0.367 9 9 3 S10T| HEA
fEHA 9 9
HEAit 3 3
& 5 H R
2ffi/r L2 FLG  0.160 X ( 0.920 + 0.030) X 1 = 0. 152 m2
" WEB ( 0.075 + 0.030 )X ( 0.920 + 0.030)X 2 = 0.2 m2
o 0. 352 m2
1 f5pr 0. 352 m2
& ST LA T
#& (mm) (fEFFY729)
$24.5 9 EAT X 1 & = 9 AT
& REEFREER (2R X R T)
y=1.7TF24 FLG 0.160 X 0.002 X 0.920 X 1700 = 0.500 kg
WEB  0.075 X 0.002 X 0.920 X 1700 X 2 = 0. 469
ok 0. 969 kg
1 f&5pr 0. 969 kg
L SR AT
T bgy FLG 0.160 X ( 0.920 + 0.030) X 1 = 0. 152 m2
WEB  ( 0.075 + 0.030 )X ( 0.920 + 0.030)x 2 = 0.2 m2
N TBC(M20)  4.02 / 1000 X 9 = 0. 036 m2
&3 0. 388 m2
1 f&5pr 0. 388 m2



2 . xHERE (B R 4D

2 .1 R KHERERA
CRHEAERMA QR ) /N
S w = BN B & . | BB 1A
® SRR (1572 1 ) o o o T Gn | mmee | ME | HA
2 - L 90 X 75 X 9 1470 11 16.2 2 32 327 SS400] /I
2 - L 90 X 75 X 9 1245 11 13.7 2 27 27 SS400 /I
4 - L 90 X 90 X 10 230 13.3 3.1 4 12 12 88400 /)
1 - PL 200 X 10 % 230 78.5 3.61 1 4 41 S8400 /)
HEAit 76 76
B BT =R
&L MR (AARYKTZD) fj@) &% if} ﬂlﬂg H & (kg) Mg MR
32 - TCB M22 X 60 0.493 32 16 32 16 SI10T| HEA
12 - TCB M22 X 55 0.478 12 6 12 6 SIOT HEA
EHA R 44 44
HEAF 22 22
U~y N4 L 44 K X 1K = 44 K
L ESin kS
offi/ L GUSS (1 0.200 + 0.060 )X ( 0.380 + 0.030)X 2 X 2 = 0. 426 m2
offi/ L GUSS (1 0.090 + 0.030 )X ( 0.230 + 0.030)X 2 X 2 = 0.125 m2
AEF 0.551 m2
1 T 0.551 m2
@ ST LA T
#& (mm) (IA%7-1)
$26.5 26 fE T X 1A = 26 fE T
& REEFRHEER (2R X R T)
y=1. 7Y 8%FF  0.075 X 0.002 X 0.380 X 1700 X 2 X 2 = 0.775 kg
y=1. 7Y 8%FF  0.090 X 0.002 X 0.230 X 1700 X 2 2 = 0. 282 kg
AEF 1. 057 kg
1 A 1. 057 kg
L SR AT
T ko GUSS (0 0.200 + 0.060 )X ( 0.380 + 0.030)X 2 X 2 = 0. 426 m2
GUSS ( 0.090 + 0.030 )X ( 0.230 + 0.030)X 2 X 2 = 0.125 m2
" no0.200 X 0.230 X 1 X 2 = 0. 092 m2
N TBC(M22)  5.06 / 1000 X 44 = 0.223 m2
AE 0. 866 m2
1 A 0. 866 m2
& Lk
WAt 11.00 X 1.470 X 0.0291 X 2 - 0.075 X 0.380 X 2 X 2 = 0.827 m2
WAt 11.00 X 1.245 X 0.0291 X 2 - 0.075 X 0.380 X 2 X 2 = 0. 683 m2
WAt 13.30 X 0.230 X 0.0262 X 4 - 0.090 X 0.230 X 2 X 2 = 0.238 m2
PEB 0.200 X 0.230 X 2 X 2 = -0. 184 m2
A 1. 564 m2
A 1. 564 m2



2 . 2. XA KHERERA
CRHMEAERA @B R HA) 1A
S w = BN B & v | BB 1A
& SRR (IR 72 0) s o G TS mma | HE A
1 - L 75 X 75 X 9 1700/ 9.96/ 16.9 1 17 17 SS4007 /1
1 - L 75 X 75 X 9 1625 9.96 16.2 1 16 16 SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 2 85400 /)
HEAit 35 35
B BT =R
oL MR (A D) o %;ﬁ HRGke | HE MK
22 - TCB M22 X 55 0.478 22 11 22 11 SI10T HEA
EHE R 22 22
HEAF 11 11
&~y N4 L 22 K X 1K = 22 K
L ESin kS
2f/7 L2 GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
AEF 0. 362 m2
1 f5pr 0. 362 m2
& ST LA T
#& (mm) (A4 721)
$26.5 16 T X N = 16 T
& REEFRHEER (2R X R T)
y=1L.THY BEFF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
UNTE 0.311 kg
1 A 0.311 kg
L SR AT
Fee ko GUSS (0 0.075 + 0.060 )X ( 0.305 + 0.030)X 4 X 2 = 0. 362 m2
" no0.155 X 0.200 X 2 X 1 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AEF 0. 535 m2
1 A 0.535 m2
& Lk
WA 9.960 X 1.700 X 0.0292 - 0.075 X 0.305 X 2 X 2 = 0.403 m2
”o9.960 X 1.625 X 0.0292 - 0.075 X 0.305 X 2 X = 0. 381 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
AE 0.722 m2
1 A 0.722 m2



2. 3. R SHEHERIAS

CRHERERIBA @« LR FT) 2K
. & HAE & . | B 2K
wiﬁ =N 1 \/71—: E = )fff
O P EE (IR Y72 0) m) | Geg/m) | (ke/ 1D &% (kg) BB (kg) MeE | MhA
1 - L 75 X 75 X 9 17000 9.96] 16.9 1 17 34| SS4000 /)
1 - L 75 X 75 X 9 1625 9.96 16.2 1 16 32| SS400 /)
1 - PL 155 X 9 X 200 70.7 2.19 1 2 4| SS400 /)
HEAit 35 71
. " B R e | BB 2 K
&RV MEAARYTZY ~ . BHE (k H
7 B (1ARY ) ke/ 1) &% (kg) (% A & (kg) ME MR
18 - TCB M22 X 55 0.478 18 9 36 18] S10T| HWEA
EHE R 18 36
BHEAE 9 18
&~y NS L 18 A X 2 K = 36 A
& S5 HIFEE
2ff Ly GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 2 = 0.281 m2
&E 0.281 m2
2 i 0. 562 m2
& ST LA T
$26.5 12 T X 2 K = 24 AT
& REFEERS (R SRS T7)
y=1L.THY BEFF  0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
&E 0.235 kg
2 i 0. 470 kg
L SR AT
T kwo GUSS  ( 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 X 2 = 0.281 m2
" I 0.155 X 0.200 X 1 x 2 = 0. 062 m2
N TBC(M22)  5.06 / 1000 X 18 = 0.091 m2
&E 0. 434 m2
2 i 0. 868 m2
& Lk
WA 9.960 X 1.700 X 0.0292 - 0.075 X 0.230 X 2 X 2 = 0. 425 m2
I 9.960 X 1.625 X 0.0292 - 0.075 X 0.230 X 2 X 2 = 0. 404 m2
e 0.155 X 0.200 X 2 X 1 = -0. 062 m2
&3 0. 767 m2

9 * 1. 534 m2



2 .4 R KHERERA
CRHERERIBF @ = B RERH) 1A
o w HAE & v | BE 1 A&

SRR (LA %72 0) s o G TS mma | HE A
2 - L 90 X 75 X 9 3545 11.0] 39.0 78 78 SS400] /I
2 - PL 155 X 9 200 70.7| 2.19 4 4 SS400 /)

HEAit 82 82
B =N
oL MR (A D) o %;ﬁ HRGke | HE MK
34 - TCB M22 X 55 0.478 34 16 34 16/ S10T| HWEA
fEHA 34 34
HEAit 16 16
&~y ML 34 K X 1A = 34 K
& S5 HFHEE
2fi/r 1> GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030) X 4 2 = 0. 362 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 2 = 0.162 m2
&3 0.524 m2
1 N 0. 524 m2
& ST LA T
#& (mm) (A4 721)
$26.5 22 AT X 1A = 22 AT
& REFEERS (R SRS T7)
y=1L.THY BEFF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
" I 0.075 X 0.002 X 0.300 x 1700 X 2 = 0.153 kg
UNETE 0. 464 kg
1 N 0. 464 kg
L SR AT
T kwo GUSS (1 0.075 + 0.060 )X ( 0.305 + 0.030) X 4 2 = 0. 362 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 X 2 = 0.162 m2
n I 0.155 X 0.200 X 2 X 2 = 0.124 m2
N TBC(M22)  5.06 / 1000 X 34 = 0.172 m2
&3 0.82 m2
1 N 0. 820 m2
& 55k
WA 11,00 X 3.545 X 0.0291 X 2 - 0.075 X 0.305 X 4 X 2 = 2.087 m2
PEf 0.075 X 2 X 0.300 X 1 X 2 = -0. 090 m2
I 0.155 X 0.200 X 2 X 2 = -0.124 m2
&3 1.873 m2
1 N 1.873 m2



2 . 5. XM SHEHERIAS

CGHERERIBA @ = B REH) 1A
S w = BN B & v | BB 1A
& SRR (IR 72 0) s o G TS mma | HE A
2 - L 75 X 75 X 9/ 3545 9.96] 35.3 2 71 SS400] /]
2 - PL 155 X 9 200 70.7| 2.19 4 SS400 /]
HEAit 75
B =N
oL MR (A D) o %;ﬁ HRGke | HE MK
30 - TCB M22 X 55 0.478 30 14 30 S10T| A
fEHA 30 30
HEAit 14
&~y ML 30 K X 1A = 30 K
& S5 HFHEE
2ffi/r 1> GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 2 = 0.281 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 2 = 0.162 m2
&3 0. 443 m2
1 N 0. 443 m2
& ST LA T
#& (mm) (A4 721)
$26.5 18 AT X 1A = 18 AT
& REFEERS (R SRS T7)
y=1L.THY BEFF  0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
" I 0.075 X 0.002 X 0.300 x 1700 X 2 = 0.153 kg
UNETE 0. 388 kg
1 N 0. 388 kg
L SR AT
T kwo GUSS (1 0.075 + 0.060 )X ( 0.230 + 0.030) X 4 2 = 0.281 m2
" I ( 0.075 + 0.060 )X 0.300 X 2 X 2 = 0.162 m2
n I 0.155 X 0.200 X 2 X 2 = 0.124 m2
N TBC(M22)  5.06 / 1000 X 30 = 0.152 m2
&3 0.719 m2
1 N 0.719 m2
& 55k
WA 9.96 X 3.545 X 0.0292 X 2 - 0.075 X 0.230 X 4 X = 1.924 m2
PEf 0.075 X 2 X 0.300 X 1 X 2 = -0. 090 m2
I 0.155 X 0.200 X 2 X 2 = -0.124 m2
&3 1.71 m2
1 N 1. 710 m2



2 . 6. PR KHERERA
CRHEAE R E 75 ©) 2 &P
o PR = HANE & . | BB 2 AT
@ SR (17472 0 ) o o o T Gn | mmn | ME A
1 - PL 320 X 9 X 820 70.7 18.6 1 19 38 SS400] /I
HEAit 19 38
WA RT B =N 42 H|
&L N R (Y7 D) o | ﬂ;g’jﬁ Rk | HE M
22 - TCB M22 X 55 0.478 22 11 44 22/ S10T HEA
EHCA 22 44
HEAiEt 11 22
U~y N4 L 22 K X 2 f&pr = 44 K
L ESin kS
27 L2 GUSS 0.075 X ( 0.305 + 0.030)X 4 X = 0.201 m2
I " 0.075 X ( 0.300 + 0.060) X 2 X 2 = 0.108 m2
AHF 0. 309 m2
2 ET 0.618 m2
@ ST LA T
#& (mm) (fEFFY729)
$26.5 22 fHT X 2 EEr = 44 T
& REEFRHEER (2R X R T)
y=1.THY B%FF 0.075 X 0.002 X 0.305 X 1700 X 4 = 0.311 kg
I o 0.075 X 0.002 X 0.300 X 1700 X 2 = 0. 153 kg
AEF 0.464 kg
2 ET 0.928 kg
L SR AT
Fee BBy GUSS 0.075 X ( 0.305 + 0.030)X 4 X = 0.201 m2
I " 0.075 X ( 0.300 + 0.060) X 2 X = 0.108 m2
N TBC(M22)  5.06 / 1000 X 22 = 0.111 m2
AEF 0.42 m2
2 ET 0. 840 m2
& Lk
GUSS  0.320 X 0.820 X = 0. 525 m2
PERRES 0.305 X 0.075 X X 2 X 2 = -0. 183 m2
o 0.075 X 0.300 X X 2 = -0. 090 m2
AE 0. 252 m2
2 ET 0. 504 m2



2.7 PR KHERERA
CRHMERERMA B #E (D) 1 f&pT
e 1 HAE & W | B 1 f&pr
@ SRR (LTS 72 0) s o G TS mman | HE A
1 - PL 320 X 9 680 70.7] 15.4 1 15 15 SS400 /)
HEAit 15 15
B =N AT
&L N R (Y7 D) o | %g’jﬁ Rk | HE | M
18 - TCB M22 X 55 0.478 18 9 18 9 SI10T| HEA
EHCA 18 18
HEAiEt 9 9
&~y ML 18 A X 1 @& = 18 A&
& S5 HIFEE
27 L2 GUSS 0.075 X ( 0.230 + 0.030) X 4 X 2 = 0. 156 m2
" I 0.075 X ( 0.300 + 0.060) X 2 X = 0.108 m2
&3 0.264 m2
1 f&5pr 0. 264 m2
@ ST LA T
#& (mm) (fEFFY729)
$26.5 18 T X 1 fpr = 18 T
& REFEERS (R X TGS T7)
y=1.THY BEFF 0.075 X 0.002 X 0.230 X 1700 X 4 = 0.235 kg
" no0.075 X 0.002 X 0.300 X 1700 X 2 = 0.153 kg
&3 0. 388 kg
1 f&5pr 0. 388 kg
L SR AT
Fee BBy GUSS 0.075 X ( 0.230 + 0.030) X X = 0. 156 m2
" I 0.075 X ( 0.300 + 0.060) X 2 X 2 = 0.108 m2
N TBC(M22)  5.06 / 1000 X 18 = 0.091 m2
&3 0. 355 m2
1 f5pr 0. 355 m2
& Lk
GUSS 0.320 X 0.680 X 2 = 0. 435 m2
PERRIE 0.230 X 0.075 X 2 X X 2 = -0. 138 m2
no0.075 X 0.300 X 2 X 2 = -0. 090 m2
&3 0.207 m2
1 f5pr 0.207 m2



2 . 8. X ERES

RHEUE 72 » R

CRHERE T 5564 58 QD) 2 f&ip
@ SH R (1S 7= 0 ) & | HUEE |, KA W B
(mm) | (ke/m) | (ke/fH) (kg) = B
1 - PL 318 X 9 X 732 70.7 16.5 1 17 SM400AT /s
1 - PL 160 X 9 X 732 70.7 8.28 1 SM400A /I
BHEAR 25
Ry Ay —— Wik | | HE 2 &
&RV N EE (IS4 7-0) /) &% (ke) % iz ME MR
14 - TCB M22 X 55 0.478 14 28 S10T| HEA
14 - TCB M22 X 65 0. 508 14 28 S10T HB#EA
EHA 28 56
BHEAR 14
® LT RV MESRL 12 K X = 24 K
L ESCin kS
2ffi/r L2 FLG  0.160 X ( 0.732 + 0.060) X 2 0. 253 m2
I WA (0 0.305 + 0.030)X 0.075 X 2 X 2 0.101 m2
" WA (0 0.230 + 0.030) X 0.075 X 2 X 0.078 m2
&3 0.432 m2
2 AT 0. 864 m2
& ST LB T
& (mm) (LfEFT % 7=0)
$26.5 28 fEFT X = 56 f& T
& REEFRHEER (2R X R T)
y=1.7TAHY FLG 0.160 X 0.002 X 0.732 X 1700 X 0. 398 kg
I WA 0.075 X 0.002 X 0.305 X 1700 X 0. 156 kg
I WA 0.075 X 0.002 X 0.230 X 1700 X 0.117 kg
&3 0.671 ke
2 AT 1. 342 kg
L SR AT
T bgy FLG 0.160 X ( 0.732 + 0.060) X 2 0. 253 m2
N TBC(M22)  5.06 / 1000 X 28 0. 142 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X 0.101 m2
" WA (0 0.230 + 0.030) X 0.075 X 2 X 2 0.078 m2
&3 0.574 m2
2 AT 1. 148 m2
& Lk
GUSS 0.318 X 0.732 X 2 0. 466 m2
FEERES 0.305 X 0.075 X 2 X -0. 092 m2
no0.230 X 0.075 X 2 X -0. 069 m2
&3 0. 305 m2
2 AT 0.610 m2




2. 9. X GERES

RHEUE 72 » R

CRHERE T 5544 58©@) 2 &P
o PR = BN B & . | BB 2 &

@ SR (17472 0 ) o o o T Gn | mmn | ME A
1 - PL 427 X 9 829 70.7 25.0 1 25 50 SM400A] /]y
1 - PL 160 X 9 X 829 70.7 9.38 1 9 19 SM400A /s

BHEAR 34 69
WA RT B =N foranirs

&L N R (Y7 D) o | ég“ HRGe) | ME H

18 - TCB M22 X 55 0.478 18 36 18 SI10T| HEA

16 - TCB M22 X 65 0. 508 16 8 32 16 S10T HEA

EHE R 34 34
HEAF 17 34
® NV TRV NS L 12 K X 2 fpT = 24 A
L ESin kS
2ffi/r L2 FLG  0.160 X ( 0.829 + 0.060) X 2 = 0.284 m2
" WA (0 0.380 + 0.030) X 0.075 X 2 X = 0.123 m2
I WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
&3 0. 508 m2
2 AT 1.016 m2
& ST LB T
& (mm) (LfEF % 7=0)
$26.5 36 & AT X 2 T = 72 T
& REEFREER (2R X RN T)
y=1.7TAHY FLG 0.160 X 0.002 X 0.829 X 1700 X 1 = 0.451 kg
I WAF 0.075 X 0.002 X 0.380 X 1700 X 1 % 2 = 0.194 kg
I WAF 0.075 X 0.002 X 0.305 X 1700 X 1 % 2 = 0. 156 kg
&3 0. 801 kg
2 AT 1. 602 kg
L SR AT
T kg FLG 0.160 X (1 0.829 + 0.060) X 2 = 0.284 m2
N TBC(M22)  5.06 / 1000 X 36 = 0. 182 m2
I WA (0 0.380 + 0.030)X 0.075 X 2 X 2 = 0.123 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
&3 0.69 m2
2 AT 1. 380 m2
& Lk
GUSS  0.427 X 0.829 X 2 = 0. 708 m2
PERRIE 0.380 X 0.075 X 2 X 2 = -0. 114 m2
FEERES 0.305 X 0.075 X 2 X 2 = -0. 092 m2
&3 0.502 m2
2 AT 1. 004 m2



210 SHRIH SRR M

CRHEURE HE B4 50) 2 &P
- PES— & B & . | BE 2 T
@ S SCE (LB 72 D) s o G TS mman | HE A
1 - PL 317 X 10 X 1551 78.5 38.6 1 39 771 SS400] /I
1 - PL 180 X 10 X 1551 78.5 21.9 1 22 44 88400 /)
HEAit 61 121
WA RT B =N foranirs
&L N R (Y7 D) o | ég“ HRGe) | ME H
42 - TCB M22 X 55 0.478 42 20 84 401 S10T HEA
8 - TCB M22 X 60 0. 493 8 4 16 8 S10T fEA
16 - TCB M22 X 70 0.523 16 8 32 16/ S10T HEA
EHA 66 66
HEAiEt 32 64
& 77 A YW HE
L = 1.551 = 1.551 m
SERA G 1.551 m
2 ET = 3.102 m
TR
L = 1.551 = 1.551 m
SERA G 1.551 m
2 ET = 3.102 m
& 5 H R
2ffi/r L2 FLG  0.180 X ( 1.551 + 0.060) X 2 = 0. 58 m2
" WA (0 0.380 + 0.030) X 0.090 X 2 X = 0. 148 m2
" WA (0 0.230 + 0.030) X 0.090 X 2 X = 0. 094 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
et 0.923 m2
2 fEpT 1. 846 m2
& ST LA T
& (mm) (LfEFT % 7=0)
$26.5 66 {5 AT X 2 EEr = 132 T
& REEFRHEER (2R X R T)
y=1.7TAHY FLG 0.180 X 0.002 X 1.551 X 1700 X 1 = 0.949 kg
) WAS 0.090 X 0.002 X 0.380 X 1700 X 2 = 0.233 kg
) WAS 0.090 X 0.002 X 0.230 X 1700 X 2 = 0.141 kg
) WAS 0.075 X 0.002 X 0.305 X 1700 X 2 = 0. 156 kg
At 1.479 kg
2 ET 2. 958 kg
L SR AT
T bgy FLG 0.180 X ( 1.551 + 0.060) X 2 = 0. 58 m2
N TBC(M22)  5.06 / 1000 X 66 = 0. 334 m2
" WA (0 0.380 + 0.030) X 0.090 X 2 X = 0. 148 m2
" WA (0 0.230 + 0.030) X 0.090 X 2 X = 0. 094 m2
" WA (0 0.305 + 0.030)X 0.075 X 2 X = 0.101 m2
HEt 1. 257 m2
2 fEpT 2.514 m2



